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ABSTRACT

Structural Design of Industrial Building

By
Ishaq Mah. Jweiles Ma'moun Abu Rayyan

Palestine Polytechnic University - 2004

Supervised By

Dr. MAHER AMRO

As a result of growth of population and civilization development in Palestine,

the fixture is appeared to exist of many large industrial buildings, these may need

large areas, to reach this requirements, suitable structural systems and suitable

structural materials should be used. This means that the production should take the

shortest time, the minimum cost and to resist high stresses.so the steel is one of the

most suitable materials, which is used for these kinds of construction.

We try to reach many objectives by this project, such as the structural study of

construction system for this industrial building and administrative building, design of

all the constructions elements and drawing all of construction plans for this industrial

building. So we will use steady steps to reach to our objectives by this project such as

structural analysis study for this industrial building, design of all structural elements,

that contains of concrete and steel elements and drawing all of executive plans for this

building, that consist of concrete and structural steel elements.
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ملخص المشروع

التصمیم الإنشائي الكامل لمجمع صناعي ملحق بھ مبنى إداري

إعداد 
مأمون مصباح أبو ریاناسحق محمود جویلس 

م٢٠٠٤–جامعة بولیتكنیك فلسطین 

إشراف 
الدكتور ماھر عمرو

نتیجة الازدیاد المطرد في عدد السكان في فلسطین، ظھرت الحاجة إلى وجود مجمعات 

إن مثل ھذا النوع من المشاریع . ناعیة ضخمة تغطي احتیاجات ھذا العدد المتزاید من السكانص

ولتنفیذ مثل ھذا النوع من المنشآت فلابد من توفر نظام إنشائي واسعة،قد یتطلب توفر مساحات 

من ومن ھنا فان العناصر الإنشائیة المستخدمة في مثل ھذا النوع . مناسب ومادة إنشائیة مناسبة

، بالإضافة االمنشآت یشترط فیھا صفات عدة كأن لا تكون مكلفة ولا یستغرق إنتاجھا وقتا كبیر

إلى تمیزھا بقلة تكالیفھا ومن ھنا فقد كان الفولاذ كمادة إنشائیة من المواد المناسبة لمثل ھذا 

.النوع من المشاریع

ھذه الأھداف ھو ونسعى من خلال مشروعنا ھذا إلى تحقیق أھداف متعددة ومن أھم

إجراء دراسة إنشائیة تحلیلیة لھذا المبنى وتصمیم العناصر الإنشائیة المستخدمة في ھذا المنشأ 

سواء من الفولاذ أو الخرسانة بالإضافة إلى عمل جمیع المخططات الإنشائیة لھذا المبنى 

العمل بھذا ویتم تحقیق ھذه الأھداف من خلال خطوات ثابتة ومتسلسلة خلال فترة. الصناعي

المشروع وتتمثل ھذه الخطوات في الدراسة الإنشائیة للنظام الإنشائي ثم تصمیم العناصر 

.الإنشائیة ومن ثم عمل جمیع المخططات الإنشائیة لھذا المبنى الصناعي



المقدمة: الفصل الأول

 مشكـــــلة البحـــــــث

الھدف من المشـروع

 خطـــوات المشـروع

نطــــــاق المشـروع
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الفصل الأول

المقدمة

:البحثمشكلة) ١-١(

لقد شھدت السنوات الأخیرة نموا كبیرا في المجالات الصناعیة في الوطن العربي بشكل 

عام وفي فلسطین بشكل خاص، حیث تطورت الصناعات بشتى أنواعھا وأقسامھا بفضل التقدم 

ول إلى أفضل النتائج بأقل لوصاالتكنولوجي الذي یسھل عملیة الإنتاج والذي یعنى أیضا

.التكالیف

ونتیجة للنمو السكاني والعمراني في فلسطین ظھرت الحاجة الماسة إلى وجود عدد من 

المجمعات الصناعیة الضخمة لملائمة متطلبات ھذا النمو السكاني حیث یتطلب ذلك تغطیة 

ا الغرض، ومن ھنا مساحات واسعة وكبیرة، الأمر الذي یتطلب استخدام إنشاءات مناسبة لھذ

ھذه المتطلبات من حیث التكلفة القلیلة لتبرز أھمیة استخدام الفولاذ كمادة إنشائیة نظرا لملاءمتھا 

.وقصر وقت التنفیذ بالإضافة إلي قدرتھا على تحمل إجھادات عالیة

ویعرف المنشأ الفولاذي بأنھ مجموعة من العناصر الإنشائیة المختلفة أو المتشابھة 

والتي تثبت أو توصل ببعضھا البعض لتشكل ھیكلا مترابطا یؤدي خدمة محددة، من . طعالمقا

.خلال قدرتھ على مقاومة الأحمال و الاجھادات المختلفة الناتجة عنھا
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، )١-١(ویتكون المنشأ الصناعي في العادة من قسمین أساسیین كما ھو مبین في الشكل 

واسعة بحیث تكون معظم عناصره الإنشائیة من وھما قسم الإنتاج حیث یتكون من مساحات 

الفولاذ، أما القسم الثاني فھو عبارة عن مبنى إداري لھذا المجمع الصناعي وعادة تكون عناصره 

من ھنا من الملاحظ أن عملیة التصمیم ضمن ھذا المشروع . الإنشائیة من الخرسانة المسلحة

).الفولاذ والخرسانة المسلحة(ین الإنشائیتین ستتضمن التصمیم الإنشائي للعناصر من كلا المادت

.[12]صناعيمبنىصورة تبین أقسام:)١-١(الشكل 

:الھدف من المشروع) ٢-١(

تتطلب دراسة المنشآت الفولاذیة عنایة ودقة متمیزتین نظرا للكم الكبیر من المعلومات 

ة الإنشائیة ولكون المنشآت الفولاذیة تعتبر التفصیلیة المتوفرة في ھذا الفرع من علوم الھندس
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الأوسع انتشارا في بناء المنشآت الصناعیة، الأمر الذي یكسبھا أھمیة خاصة ومن ھنا فان ھذه 

:أھمھاالدراسة تھدف إلى تحقیق عدة أھداف 

.توفیر وتدقیق المخططات المعماریة اللازمة للتصمیم الإنشائي.١

.للمجمع الصناعي والمبنى الإداريدراسة إنشائیة للنظام الإنشائي .٢

.التصمیم الإنشائي للعناصر الإنشائیة.٣

عمل المخططات الإنشائیة لكامل المجمع الصناعي بالإضافة إلى الملحق الإداري .٤

إذ أن تحقیق ھذه الأھداف یتم من خلال اختیار عناصر إنشائیة آمنة واقتصادیة، بحیث 

افة إلى إمكانیة التنفیذ للمشروع بالسرعة المطلوبة كما یتم خفض التكالیف قدر المستطاع بالإض

وأن تكون مقاطع وأطوال القطع المستخدمة في عملیة التصمیم متوفرة في الأسواق المحلیة أو 

. یمكن الحصول علیھا من الأسواق الخارجیة بسھولة وبتكالیف معقولة

:المشروعخطوات) ٣- ١(

فرة مع تعدیلھا بحیث تصبح صالحة وتفي دراسة المخططات المعماریة المتو.١

.بمتطلبات التصمیم الإنشائي

دراسة تحلیلیة إنشائیة لھذا المنشأ تتضمن تحدید الأحمال وتحدید النظام الإنشائي .٢

.الأفضل والذي سیتم اختیاره بكل ما یحوي من عناصر إنشائیة

ویة المعدنیة أالتصمیم الإنشائي لھذه العناصر بشكل كامل سواء العناصر الإنشائ.٣

.الخرسانیة
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عمل المخططات التنفیذیة للعناصر الإنشائیة التي یحتویھا المجمع الصناعي بشكل .٤

.كامل و قابل للتنفیذ

.الإداريعمل المخططات التنفیذیة للعناصر الإنشائیة في المبنى .٥

العلاقة بین مراحل العمل و زمن المشروع النسبي): ٢-١(الشكل 

:لمشروعانطاق ) ٤- ١(

كما ھو الحال خلال أي مشروع یجب أن یكون ھناك خطوات محددة ومعروفة لتحقیق الأھداف 

حیث أن الخطوات الواجب إتباعھا في ھذا المشروع المرجوة من ھذا المشروع بأكمل صورة،

ھي كما ذكر سابقا، ومن ھنا فقد تم ترتیب محتویات المشروع بشكل متسلسل مع مراحل العمل 

:الفصول التالیةحتوي ھذا المشروع على یحیث 

العلاقة بین مراحل العمل و الزمن النسبي
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وفیھ وصف عام للمشروع، حیث یتضمن المقدمة، ومشكلة المشروع، : الفصل الأول

.وأسباب اختیار المشروع وأھمیتھ

ویتضمن ھذا الفصل وصف للتصامیم المعماریة، حیث یحوي على : الفصل الثاني

.شآتإیضاح لمتطلبات التصمیم المعماري لھذا النوع من المن

ویتضمن ھذا الفصل التحلیل الإنشائي للمجمع الصناعي ومن ثم المبنى : الفصل الثالث

. الإداري

ویحتوي ھذا الفصل على التصمیم الإنشائي للعناصر الإنشائیة بالمجمع : الفصل الرابع

.الصناعي

ویحتوي ھذا الفصل على التصمیم الإنشائي للعناصر الإنشائیة بالمبنى :الفصل الخامس

.الإداري

التوصیاتویمثل فصل النتائج و:الفصل السادس.



الوصف المعماري للمشروع :  الفصل الثاني

المقدمة

 المشروع المقترح

 وصف موقع البناء

التدقیق والتعدیل المعماري
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الفصل الثاني

الوصف المعماري للمشروع

:المقدمة) ١- ٢(

عملیة التصمیم للمنشأ الصناعي تتم عبر عدة مراحل، تبدأ بالتصمیم المعماري الذي 

یحدد شكل المنشأ و یأخذ بعین الاعتبار تحقیق الوظائف و المتطلبات المختلفة، حیث یجري 

و تحدید مواقع الأعمدة و ات والأبعاد المطلوبةالتوزیع الأولى لمرافقھ، بغیة تحقیق الفراغ

وكذلك ) في المباني(وتتم في ھذه العملیة أیضا، دراسة الإنارة والعزل والتھویة . المحاور

.الحركة والتنقل، وغیرھا من المتطلبات الوظیفیة

ل و من ثم تأتي عملیة التصمیم الإنشائي الھادف إلى تحدید مواد و مقاطع عناصر الھیك

الإنشائي اعتمادا على الأحمال المختلفة التي یتم نقلھا عبر ھذه العناصر إلى الأساسات و من ثم 

.و تأتي بعد ھذه العملیة عملیات تصمیم الكھرباء و ألمكانیك الخاصة بھذا المشروع، إلى التربة
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:المشروع المقترح) ٢- ٢(

العناصر الإنشائیة المكونة للھیكل یتضمن ھذا المشروع دراسة إنشائیة مفصلة لجمیع 

و ھذه المخططات بحاجة إلى ، الإنشائي للمبنى إذ تم الحصول على مخططات معماریة أولیة

لكي تصبح ملائمة و كاملة لمتطلبات التصمیم الإنشائي، یظھر ذلك من خلال ، تدقیق و تعدیل

)–A1(المخططات المعماریة  A8.

مبنى المجمع الصناعي منتظم الشكل، مستطیل و یظھر من خلال المخططات أن

متر مربع ویتضمن ) ١٣٦٣.٣٠(م كما وتبلغ مساحتھ المسطحھ ) ٣٦.٣٣×٤٨.٩١( وأبعاده 

وھو یمثل القسم الأكبر ھذا المبنى قسمین رئیسیین، القسم الأول یمثل قسم الإنتاج والتخزین، 

ثاني فھو عبارة عن مبنى إداري ملحق مة أغراض الإنتاج والتصنیع، وأما القسم الوذلك لملاء

).١-٢(بقسم الإنتاج والتخزین، أنظر الشكل 

توزیع أقسام المبنى الصناعي):١-٢(الشكل 
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:وصف موقع البناء) ٣- ٢(

تحدید موقع المبنى الصناعي یتم على أساس الحاجة إلى تحقیق عدة متطلبات صحیة 

موقع ھذا المبنى، بحیث یراعى في اختیار ھذا الموقع ما واقتصادیة وبیئیة وغیرھا، من خلال

: یلي

ن موقع المبنى ملائم من ناحیة بیئیة بحیث یقع في منطقة صناعیة وبعیدا عن إ.١

.المناطق السكنیة

بحیث یتم اختیار موقع البناء بالقرب من ، أن تكون عملیة الوصول للمبنى سھلة.٢

.طریق رئیسي

و المرافق العامة اللازمة للمبنى من میاه و كھرباء و تالموقع الخدماأن تتوفر في .٣

.مواصلات ومجاري وغیرھا

.أن تتوفر في الموقع المساحات المطلوبة للمبنى.٤

قدر الامكان في حین یتم أن تكون طبیعة الأرض مستویة وخالیة من الانحدارات.٥

.الردمأخذ الانحدارات بعین الإعتبار في حال وجودھا من خلال أعمال الحفر و

وبشكل عام فان تحقیق ھذا المتطلبات، یعني توفر المكان المناسب لتنفیذ مثل ھذا النوع 

من المباني أي أن تحقیق ھذه المتطلبات یؤدي إلى ملائمة التصمیم المعماري المتوفر لأي 

).٢-٢(موقع، لاحظ الشكل 
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[12]عيصورة تبین احد المواقع العامة لمجمع صنا):٢- ٢(الشكل 
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:التدقیق والتعدیل المعماري على المخططات المعماریة المتوفرة) ٤-٢(

:المقدمة)١-٤-٢(

لقد توفرت للمبنى مخططات معماریة تم الحصول علیھا من قبل الدكتور ماھر عمرو، 

والملاحظ أن ھذه المخططات المعماریة غیر مكتملة وأن). a-1/2(كما ھو موضح في المخطط 

استخدامھا لا یفي بمتطلبات التصمیم الإنشائي، كما وأن تدقیق ھذه المخططات معماریا أدى الى 

:عمل تعدیلات عدة وھي

المخطط إعادة تنسیق مخطط المسقط الأفقي المتوفر وھو مسقط الطابق الأول، لاحظ.١

(A-2).

ظ المخطط، لاح)الأرضي والثاني( إعداد مخططات المساقط الأفقیة للطوابق الأخرى .٢

)A-1/3(.

إعداد مخطط الموقع العام للمبنى بشكل كامل وموضح موقع المبنى، أنظر المخطط.٣

)A-0.(

.)A-6(كما ھو موضح في المخطط )A-A(إعادة تنسیق القطاع .٤

).A-7(ویظر ذلك من خلال المخطط )B-B(إعداد القطاع .٥

).A-4/5(ظ المخطط إعداد جمیع الواجھات الخاصة بھذا المبنى، لاح.٦

تنظیم جمیع اللوحات والمخططات المعماریة ضمن إطار موحد لجمیع اللوحات، .٧

.وإخراجھا بصورة مناسبة من ناحیة معماریة
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):قسم الإنتاج والتخزین(الوصف المعماري للمجمع الصناعي ) ٢-٤- ٢(

ذو شكل منتظم یشكل ھذا القسم الجزء الأكبر من المبنى، والملاحظ أن ھذا القسم

متر مربع ویقع ) ١١٣٠(أما مساحتھ الكلیة فتبلغ حوالي م و)٢٣.١×٤٨.٩١( مستطیل وأبعاده 

-:، ویتضمن ھذا المبنى)٣-٢( ھذا القسم في الجھة الشرقیة من المجمع الصناعي، لاحظ الشكل

متر مربع ویقع ) ٩٥٠(ھو یمثل القسم الأكبر من المبنى وتبلغ مساحتھ حوالي:قسم الإنتاج-أ

في الجھة الشرقیة،كما ھو موضح في الشكل  )م ١٥.١( على طول المبنى الصناعي وبعرض 

، والملاحظ أن ھذه المنطقة قد صممت بحیث تستوعب المعدات الضخمة المحتمل )٣-٣(

، حیث أن ھذا المجمع الصناعي یستخدم في تجمیع وجودھا في المجمع ولملائمة عملیة الإنتاج

.ھربائیة منزلیةأجھزة ك

إن سقف ھذا القسم ھو عبارة عن سقف فولاذي مائل وذلك نظرا لكبر المساحة، بحیث 

یسھل المیلان الموجود في السقف عملیة تصریف میاه الأمطار والثلوج، كما ویحتوي السقف 

على فتحات زجاجیة، وتتلخص وظیفة ھذه الفتحات في توفیر إضاءة طبیعیة للعاملین داخل 

.ى دون الحاجة إلى إضاءة اصطناعیة مركزةالمبن

أما بالنسبة لعملیة التنقل والحركة داخل المبنى فقد تم أخذھا بعین الاعتبار في التصمیم 

المعماري، حیث یتم استخدام روافع متحركة لنقل المواد بین منطقة الإنتاج ومنطقة التخزین 

، وأما بالنسبة لنقل المواد )٤-٢(لاحظ الشكل وذلك لتسھیل عملیة النقل للمواد المنتجة، ) مزلیق(

من خلال استخدام رافعة ثقیلة، یبلغ داخل منطقة الإنتاج نفسھا فقد تم أخذھا بعین الاعتبار

،)م٧.٥(كما وأن الرافعة تكون على ارتفاع ) طن ١٥(أقصى حمل یمكن أن تحملھ ھذه الرافعة 
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.أقسام المجمع الصناعي):٣-٢(الشكل 

حركة المركبات من والىا لمجمع الصناعي): ٤-٢(الشكل
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الإنتاج (حیث تعمل ھذه الرافعة على تسھیل عملیة نقل المواد ما بین أقسام المجمع الصناعي 

، إذ أن استخدام ھذه الرافعة یعتبر اقتصادیا بالإضافة إلى أن عملیة نقل المواد تتم )والتخزین 

و یمكن من خلالھا نقل المواد لأي منطقة . التصنیعبسھولة وسرعة ودون التأثیر على عملیات

).ب/ أ -٥-٢(ضمن قسم الإنتاج بحیث تتحرك بالاتجاھات الثلاث، لاحظ الشكل 

یقع ھذا القسم في الجھة الغربیة من قسم التصنیع وھو ذو شكل مستطیل على : قسم التخزین. ب

وھو ملحق لقسم الإنتاج ) ٢م٢٨١( و تبلغ مساحتھ ) م ٧.٥(طول المبنى الصناعي وبعرض 

وذلك لتسھیل عملیة نقل المواد المنتجة إلى قسم التخزین وأما بالنسبة للسقف فھو یشكل وحدة 

م ١٣.٠٥( واحدة لكامل المجمع الصناعي وبنفس المیلان ویبلغ أعلى منسوب في المبنى 

).A-6(لاحظ المخطط ).

لتخزین نفسھ فتتم من خلال استخدام الروافع المتحركة وأما بالنسبة للحركة داخل قسم ا

، وذلك نقل المواد إلى داخل منطقة التخزین بالإضافة إلى رفعھا إلى الطوابق العلویة )مزلیق(

، وتتم الحركة بالنسبة للعاملین داخل قسم التخزین من )٦-٢(في قسم التخزین، أنظر الشكل 

.سم التخزین لتسھیل حركة العاملین فیھباستخدام درجین فولاذیین یتوزعان في ق

لقد تم تخصیص قسم لتلبیة احتیاجات العاملین في المجمع الصناعي :قسم الخدمات للعاملین. جـ

إذ أن ھذا القسم یحتوي على غرفة طعام للعاملین بحیث یمكن لھذه الغرفة استیعاب عدد من 

للطابق الواحد، كما ویحوي ھذا ) متر مربع١٨٠( شخص وتبلغ مساحتھا ٤٨العاملین یقارب 

القسم على غرفة ملابس للعاملین بحیث یمكنھا استیعاب العدد نفسھ بالإضافة إلى مراحیض 

، والملاحظ أن كل من ھاتین)٢م٢٠.٣(للعمال في نفس القسم، حیث تبلغ مساحة ھذه الوحدة 
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.الحركة العمودیة للرافعة الثقیلة): أ-٥-٢(الشكل 

.الحركة الأفقیة للرافعة الثقیلة): ب-٥-٢(الشكل 
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.نقل المواد من والى منطقة التخزین):٦-٢(الشكل 
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وأما السقف ).  A-1/2/3(الوحدتین تمثل طابق ویصل بینھما درج فولاذي،، لاحظ المخطط 

.سقف مائل بنفس میلان السقف لمنطقة الإنتاجفھو عبارة عن

رج أمان فولاذي خارجي وذلك لضمان وتسھیل خروج العاملین ویتصل یھذا القسم د

من المبنى في حال حدوث حریق في المبنى حیث یصل ھذا الدرج الى الطابق الثاني ومن 

).A-5(المجمع، لاحظ المخطط 

:الوصف المعماري للمبنى الإداري) ٣-٤-٢(

، و )م٢٠.٨( بطول یقع المبنى الإداري في الناحیة الغربیة من المجمع الصناعي

متر مربع للطابق الواحد أي أن ) ١٧٠( و تبلغ مجمل مساحتھ حوالي ، )م٧.٩( بعرض 

یصل ، )طابقین ( حیث یتكون ھذا الجزء من منسوبین ، متر مربع٣٤٠مساحتھ الكلیة تساوي 

بینھا درج خرساني، حیث یتمیز ھذا الدرج بعدم ارتكازه على أي عامود وذلك بناء على 

لبات معماریة، ویتم تصمیمھ مع الأخذ بعین الاعتبار ھذه المتطلبات، لاحظ المخطط         متط

)A-6.(

أما بالنسبة للمرافق التي یحتویھا المبنى الإداري فھي عبارة عن غرفة للإدارة و تشمل 

بالإضافة إلى غرفة السكرتاریة و ھي مصممة بحیث تتسع ، قاعة الاجتماعات الخاصة بالمبنى

ویحتوي ھذا المبنى على غرفة للموظفین تتسع إلى  خمسة عشر .  إلى مكتبین بكامل متطلباتھما

) .   ٧-٢(موظف ، أنظر الشكل 
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.أقسام المبنى الإداري):٧-٢(الشكل 
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و یتضمن المبنى الإداري منطقة عازلة تفصل بین المبنیین الإداري والصناعي، ویشكل 

بشكل مستطیل، حیث أن ھذا ) ٢م١٠٢.٥(لة بین المبنیین، وتبلغ مساحتھ ھذا القسم منطقة عاز

، كما أن الجزء الظاھر منھ )A-0(القسم مفتوح للأعلى ومسقوف بالزجاج لاحظ المخطط 

بواجھات المبنى ھو على شكل واجھات زجاجیة، ویحتوي ھذا القسم على مخرجین باتجاھین 

دمي المجمع في حال حدث طارئ، وتبرز أھمیة ھذا متعاكسین وذلك لتوفیر ممر أمان للمستخ

القسم في الفصل بین المبنیین وعزل المبنى الإداري عن باقي المجمع وذلك لحمایة المبنى من 

.الحریق والضجیج الناجم عن عملیات الإنتاج في المبنى الصناعي

: المتطلبات الوظیفیة) ٤-٤-٢(

:متطلبات السلامة والأمان. أ

التصمیم تأخذ بعین الاعتبار عوامل السلامة و الأمان لضمان سلامة العاملین في عملیة

ھذا المبنى في ظل ظروف العمل المتوفرة ومن عوامل السلامة والأمان التي تم مراعاتھا في 

:التصمیم المعماري لھذا المنشأ ما یلي

و ) ٢م١٠٢.٥(فصل المبنى الإداري عن قسم الإنتاج بمساحة حرة تقدر بحوالي    .١

الھدف منھا ھو تكوین منطقة عازلة للضجیج و لمنع وصول أي مؤثرات أخرى من 

).A-1/2/3(أو غیرھا، لاحظ المخططات، روائح أو غازات

أو للحد من ، تم استخدام جدار خرساني المكونة من مواد لھا القدرة على مقاوم للحریق.٢

ري لفترة زمنیة كافیة لإطفائھا، لتأمین انتشار الحریق من قسم الإنتاج إلى المبنى الإدا

.وقت كافي لخروج العاملین من المجمع في حال حصول حریق مثلا داخل المجمع
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و بالتالي الحد . یكون بعكس اتجاه الریح) الجنوبي الغربي ( إن موقع المبنى الإداري .٣

الصناعي من تطایر أي غبار أو غازات أو أي من نواتج التصنیع و انتقالھا من القسم 

.إلى ھذا القسم من المبنى

تم عمل رفرافات للشبابیك بھدف التحكم بأشعة الشمس الداخلة للمبنى الإداري سواء في .٤

. فصل الصیف أو الشتاء

:التھویة والإنارة و العزل الحراري. ب

. التصمیم المعماري للمبنى یجب أن یأخذ بعین الاعتبار متطلبات التھویة و الإنارة

الفتحات المستخدمة في ، یث یتم تحدید ارتفاع و مساحة الفتحات لتحقیق ھذه المتطلباتبح

ارتفاع ھذه . التصمیم تقع على ارتفاع مناسب لسرعة الریاح التي تساھم في عملیة التھویة

.الفتحات تم تحدیده بشكل ملائم أیضا علیة الإنارة الطبیعة بحیث یتم دخول أشعة الشمس المبنى

بالإضافة إلى ، أمتار وبعرض مترین٦لاحظ وجود فتحات في السقف المائل بطول كما و ی

، فتحات جانبیة علویة في الواجھات، حیث تساھم ھذه الفتحات بشكل رئیسي في عملیة الإنارة

أما الفتحات الجانبیة فیمكن استخدامھا بھدف التھویة الطبیعیة للمبنى ، )A-0(لاحظ المخططات 

).A-4(لاحظ المخطط ، دیم و استبدالھ بالھواء النظیفبطرد الھواء الق

بالإضافة إلى ذلك فأن المبنى الإداري أیضا تم تصمیمھ بشكل مناسب لعملیة التھویة 

حیث تم الأخذ بعین الاعتبار أن المبنى مكیف بشكل اصطناعي وذلك لكون الواجھات الزجاجیة 

، وبالرغم من كون المبنى الإداري )A-5(ھي عبارة عن واجھات مغلقة تماما، لاحظ المخطط 
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مبنى خرساني فان ھذا المبنى یحتوي على واجھتین زجاجیتین بشكل كامل، بحیث تتضمن 

.ھاتان الواجھتان توفیر إضاءة طبیعیة مناسبة لقسم كبیر من المبنى طوال فترة النھار

من صفائح الفولاذ والملاحظ أیضا بالنسبة للمجمع الصناعي أن جدرانھ الجانبیة مكونة

الرقیقة، وھي في الواقع مكونة من طبقتین من الصفیح الفولاذي الرقیق تحتوي فیما بینھا على 

طبقة شبھ عازلة تساھم في عملیة عزل المبنى وفصلھ عن البیئة والظروف المحیطة بھ نظرا 

.رةلكون صفائح الفولاذ رقیقة ولا تمثل مادة عزل مناسبة سواء للأصوات أو للحرا



الوصف الإنشائي للمبنى الصناعي: الفصل الثالث

المقدمة .

الوصف الإنشائي لقسم الإنتاج والتخزین.

 الوصف الإنشائي للمبنى الإداري

 الأحمال
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الفصل الثالث

الوصف الإنشائي للمبنى الصناعي

:المقدمة) ١-٣(

ن            ى م ة للمبن ائیة المكون ر الإنش د العناص ام بتحدی ب القی ائي تتطل میم الإنش عملیة التص

ائي   .حیث المادة الإنشائیة و نوع المقطع المستخدم في تكوین ھذه العناصر ام إنش حیث إن كل نظ

.الحل الأمثل من حیث الأمان و التكلفةلتحدیدأولیة یتم تحدیده عبر دراسة 

ائیة         واد الإنش ن الم ین م وعین مختلف من ن ى تتض ذا المبن ة لھ ائیة المكون ر الإنش العناص

العناصر في المجمع الصناعي تم تحدید معظم . و ھما الفولاذ و الخرسانة المسلحة بشكل رئیسي

ن ا   الإنشائیة ر زم را لقص ذ من مادة الفولاذ نظ ر       ، لتنفی ى عناص ا عل ع أیض ذا المجم وي ھ و یحت

ق     ازل للحری اني كجدار ع ا  ، خرسانیة مثل العقدات الخرسانیة في قسم التخزین و جدار خرس أم

لحة        انیة مس ر خرس ن عناص ارة ع ھ عب ائیة فی ر الإنش م العناص ى الإداري فمعظ ث المبن ، حی

ة   أختیرت ھذه العناصر الإنشائیة بشكل یتوافق مع المتطلبات ا ذ التكلف لمعماریة بالإضافة الى أخ

.بعین الإعتبار وسھولة التنفیذ

ددت    د تع ونظرا لتعدد الأھداف و الأغراض المطلوبة من بناء ھذا المجمع الصناعي، فق

العناصر الإنشائیة القابلة للاستخدام في تصمیم ھذا المجمع وذلك لملائمة متطلبات ھذا النوع من 

ذه ال م ھ ن أھ آت، وم زینالمنش اج والتخ ات الإنت م عملی عة تلائ احات واس وفیر، مس ات ت ،      متطلب
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ال    و ن الأحم ة ع ادات الناتج ن       ،  مقاومة الاجھ ى الإداري ع زل المبن رورة ع ى ض افة إل بالإض

. المبنى الصناعي ضد الحریق وكذلك المساھمة في توفیر المظھر الجمالي المناسب لھذا المجمع

د   . ر أن مثل ھذه المشاریع یتم تنفیذھا في فترة زمنیة قصیرةكما و یجب إن یؤخذ بالاعتبا ذا نج ل

ى      افة إل ة، بالإض ر الفولاذی انھ من الضروري اختیار عناصر إنشائیة سریعة التنفیذ مثل العناص

ي           ار ف ین الاعتب ذا یؤخذ بع ذ، وھ ي التنفی ة ف ة الدق أن بناء الرافعات یتطلب عناصر إنشائیة عالی

.   وكذلك الخرسانیةلفولاذیةالعناصر الإنشائیة ا

:الوصف الإنشائي لقسم الإنتاج والتخزین) ٢-٣(

رض           م الغ ث تلائ ة بحی ون خاص آت تك ن المنش وع م ذا الن إن العناصر الإنشائیة لمثل ھ

اص               م الخ ذا القس ي ھ عة ف احات الواس وفر المس ى ت ة إل ن الحاج ا م ھ، وانطلاق ن بنائ المطلوب م

ز اج والتخ ات الإنت تلخص بعملی م ت ذا القس ي ھ تخدامھا ف ل اس ائیة المحتم ر الإنش ان العناص ین ف

:بالتالي

:الھیكل العام للمبنى) ١-٢-٣(

ار          م اختی د ت ة، وق ي فولاذی ع ھ ن المجم م م إن العناصر الحاملة المستخدمة في ھذا القس

عة ومف  احات واس وفیر مس ى ت ة إل را للحاج م نظ ذا القس ي ھ ائیة ف ادة إنش ولاذ كم م الف ة تلائ توح

الإنتاج والتخزین ومن خلال مقارنة الفولاذ بغیره من المواد الإنشائیة یلاحظ أن الفولاذ ھو أكثر 
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وھذه المتطلبات تتلخص في ). ١-٣(لاحظ الشكل ، المواد ملائمة للمتطلبات الإنشائیة لھذا المبنى

ذا  السرعة في التنفیذ والقدرة العالیة على تحمل الاجھادات بالإضافة إل ى أن تكلفة استخدام مثل ھ

. لمواد الإنشائیة أقل منھا فیما لو أستبدلت بعناصر إنشائیة خرسانیةالنوع من ا

.الصناعيصورة تبین الھیكل العام للمجمع ):١-٣(الشكل 
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:الجدران) ٢-٢-٣(

ذ الجدران الخارجیة عبارة عن جدران من صفیح فولاذي مرتكزة على مدادات طولیة، إ

انیة   أن جمیع الواجھات في المبنى ھي فولاذیة باستثناء الواجھة الغربیة للمبنى حیث تكون خرس

ط     ظ المخط ق لاح ات        ). A-4( لملائمة عزل الحری ى بعملی ع یعن ن المجم م م ذا القس ا أن ھ و بم

زل للجدران         ة الع ان عملی ناعیا ف ى ص ن المبن الإنتاج والتخزین، بالإضافة إلى كون ھذا القسم م

دران      ع ج ث أن مقط ائیا، حی ر إنش میم العناص ي تص ار ف ین الاعتب ذ بع ب أن تؤخ ا  یج حراری

).٢-٣(لاحظ الشكل ، الصفیح الفولاذي یتكون من طبقتین فولاذیتین بینھما طبقة عازلة للحرارة

مقطع یبین الصفائح الفولاذیة المستخدمة في المجمع الصناعي ):٢-٣(الشكل 
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ل       بالإضافة إلى ذ تم عم ث ب انیة بحی ي خرس ع ھ لك فان الجزء السفلي من جدران المجم

ذا       ة ھ ي، ووظیف ر أرض ى جس جدار خرساني بارتفاع متر واحد عن سطح الأرض و یرتكز عل

الفولاذي السفلي من الجدار من الصدأ، بالإضافة إلى منع منع الجزءالجدار الخرساني تتمثل في 

).A-4(لاحظ المخطط .الرطوبة

:السقف) ٣-٢-٣(

ین         ولاذي ذو طبقت فیح ف ن ص ون م ى مك ن المبن م م ذا القس ي ھ قف ف إن الس

ذه   ، ) Frame(و من ثم یرتكز على ھیكل إنشائي ،  ),Sandwichمزدوج( ون ھ وذلك نظرا لك

كما وأن المیلان في السقف ، الصفائح خفیفة الأوزان إذا ما قورنت مع غیرھا من المواد الأخرى

ل        لھ دور في تقلی ة الحم ل قیم تم تقلی وج إذ ی ال الثل ي أحم ل الأحمال الواقعة علیھ كما ھو الحال ف

كل        ظ الش وج لاح راكم الثل ة ت ي منطق نتیجة لزاویة المیلان في الوقت الذي یتم فیھ زیادة الحمل ف

)٢-٣.(

:عزل الحریق) ٤-٢-٣(

درا   ة بالج فات الخاص ق المواص ب أن یحق ق یج ازل للحری دار الع ة إن الج ن العازل

یس       ة ل دة الفولاذی ون الأعم ك لك للحریق، إذ أن ھذا الجدار لا یرتكز على الأعمدة الفولاذیة، وذل

ن                ة ع رارة الناجم ة الح ى درج اء عل ین بن ن مع رور زم د م ق بع ة الحری ى مقاوم درة عل ا الق لھ
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ة التص ي عملی ة ف د  الحریق، ومن ھنا فلابد أن یتم الأخذ بعین الاعتبار أي ظروف محتمل میم عن

ى         ادرا عل ون ق ث یك ائیا بحی ق إنش ازل للحری دار الع مم الج ب أن یص ق، إذ یج دوث الحری ح

ل          اره بالكام ل وانھی ى بالكام راق المبن ي احت ھ ف ة علی ال الواقع ع الأحم تیعاب جمی ظ      .اس لاح

).٣-٣(الشكل 

.صناعيالصورة تبین الجدار العازل بین المبنى الإداري و المجمع ):٣-٣(الشكل 

الجدار الذي یفصل المبنى الإداري 
و الذي یعمل عن المجمع الصناعي

.كعازل للحریق
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:الأساسات) ٥-٢-٣(

ذا         ي ھ تخدمة ف ات المس وع للأساس د ن من تحدی الدراسة الإنشائیة للمجمع الصناعي تتض

ة   الجزء من المنشأ بحیث یتم تصمیمھا بالاعتماد على قوة تحمل التربة، حیث أن قوة تحمل الترب

ل      تشكل عامل رئیسي لتحدید أبعاد الأساسات، بناء على التحالیل الم ن قب دینا م وفرة ل ة المت خبری

) .٢ملم/نیوتن٠.٣(الدكتور ماھر عمرو فان قوة تحمل التربة تبلغ 

دة         ائي المحدد للأعم ام الإنش ى النظ ادا عل ات اعتم میم الأساس یتم تص ذا وس ث أن . ھ حی

س النظام الإنشائي للأعمدة الفولاذیة یحدد كیفیة ربط الأعمدة مع الأساس ویحدد بذلك نوع الأسا

). ٤-٣(المنفرد المستخدم، انظر الشكل 

صورة تبین أنواع الأساسات المنفردة المستخدمة في المجمع الصناعي): ٤-٣(الشكل 

.اعتمادا على النظام الإنشائي للأعمدة

Pin Fixed

Type- A Type -B
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: الوصف الإنشائي للمبنى الإداري)٣-٣(

:الھیكل العام) ١-٣-٣(

وأما بالنسبة لجدرانھ فھي عبارة ،)و أول أرضي( حیث یتكون ھذا المبنى من طابقین 

ى           ي المبن قف ف انیة مسلحة، إذ أن الس دات خرس ا عق ز علیھ ة ترتك انیة حجری دران خرس ن ج ع

ر          ن عناص ون م ر فیتك وق المم قف ف ا الس متة، وأم الإداري ھو عبارة عن عقدات خرسانیة مص

كل   غطاء لسقف الممر، لاالتي تشكلفولاذیة حاملة للألواح الزجاجیة  ظ الش ة  ) (٥-٣(ح المنطق

ث   ). الفاصلة بین المبنیین ق بحی وھذه العناصر الفولاذیة یرتكز علیھا أعلى الجدار العازل للحری

ع    دار م ى الج ي أعل اس وف ع الأس دار م فل الج ي أس از ف ي ارتك ى نقطت دار عل ذا الج وي ھ یحت

).A-6(العناصر الفولاذیة لاحظ المخطط 

:الدرج) ٢-٣-٣(

ن درج   إن ال ارة ع درج المستخدم في الارتقاء بین مناسیب ھذا الجزء من المنشأ ھو عب

خرساني ویحتوي على نقطتي ارتكاز فقط في الأعلى والأسفل، حیث أن ھذا الدرج خالي من أي 

أ            ن المنش م م ذا القس ة بھ ة الخاص ات المعماری ة المتطلب ك لملائم رى وذل از أخ ظ  . نقاط ارتك لاح

).٥-٣(الشكل في) أ -أ( القطاع 
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.الدرج في المبنى الإداري): ٥-٣(الشكل 
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:مقاومة المبنى للأحمال الأفقیة) ٣-٣-٣(

ى      ولي للمبن اه الط ة أن الاتج ات المعماری ى المخطط لاع عل لال الاط ن خ ظ م ن الملاح م

ب أن ت      یة یج دران العرض ص إذ أن الج دران ق وي أي ج ص   تالإداري لا یحت ال الق ل أحم حم

ا ى مقاوجمیعھ افة ال ة بالإض ال الأفقی ة الأحم ازل  م دار الع ن الج ول ع ى مفص ث أن المبن ، حی

).٦-٣(للحریق ولا یستطیع ھذا الجدار مقاومة الأحمال الأفقیة الطولیة، أنظر الشكل

.اتجاة التحمیل في المبنى الإداري): ٦-٣(الشكل 

اتجاه التحمیل یكون بالاتجاه 
الطولي

جدار عرضي یتحمل احمال 
القص الطولیة و العرضیة

جدار عازل للحرارة
زجاج
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:الأساسات) ٤-٣-٣(

ارة ع ث           ھي عب ى حی ذا المبن ة بھ ول الجدران الخاص ى ط د عل تمرة تمت ات مس ن أساس

ن            ي أخذت م ة الت ل الترب وة تحم ى ق ادا عل تم اعتم ذا ی تصمم اعتمادا على قوة تحمل التربة، وھ

).٢ملم/ نیوتن ٠.٣(دراسات مخبریة متوفرة لتربة الموقع وتبلغ 

:الامتداد الطولي للمبنى الإداري) ٥-٣-٣(

ي         إن ال اء ف ل للإنش ى الإداري القاب الي والمبن ى الإداري الح ین المبن ل ب دار الفاص ج

ى        افة المبن ة إض ار إمكانی ین الاعتب ذ بع ث یؤخ مم بحی ب أن یص ة،  یج رة زمنی د فت تقبل بع المس

ابق      الإداري المقترح مستقبلا، ي الجدار الس ى طرف لة عل ات منفص )W.1(من خلال عمل أساس

ر،        ومن ثم جسر یرتكز على ا ذا الجس ى ھ دة عل ل العق تم تحمی ث ی رفیین بحی ظ        لعمودین الط لاح

).٧-٣(الشكل
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.قابلیة المبنى الإداري للامتداد الطولي): ٧-٣(الشكل 

جدار خرساني مسلح داعم لعقدة البناء الحالي 
)جدار مشترك(و عقدة البناء المستقبلي
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:الأحمال) ٤-٣(

انیة       آت الخرس ي المنش ا ف ة عنھ آت الفولاذی وى  ، لا تختلف الأحمال التي تتلقاھا المنش س

فالمنشآت عموما تتعرض إلى الأنواع التالیة من ، الذاتیة و الأحمال المیتة للموادالأوزانببعض 

-:الأحمال

(Dead loads)الأحمال المیتة                            .١

(Live loads)الأحمال الحیة                            .٢

)Dynamic loads(أحمال دینامیكیة.أ

)Static loads(ةستاتیكیأحمال .ب

)Environmental loads( الأحمال البیئیة                          .٣

(Wind loads)أحمال الریاح              .  أ

(Seismic loads)أحمال الزلازل                 .  ب

(Snow loads)أحمال الثلوج             .  جـ

ى تحم درة عل ا الق ائیة لھ ر إنش اد عناص ى إیج ائي إل ع  وتھدف عملیة التصمیم الإنش ل جمی

ار    ا دون أن تنھ ة علیھ ال الواقع د      . الأحم كل جی ا و بش مم ملم ون المص ب أن یك الي یج و بالت

نعكس      ، لأحمال المؤثرة على المنشأ و كیفیة تحدیدھابا ال ی اب الأحم ة حس ي عملی لأن أي خطأ ف

و .  سلبا على التصمیم الإنشائي إذ یجب مراعاة أقصى درجات الأمان بالإضافة إلى تقلیل الكلفة

.فیما یلي توضیح لأھم أنواع الأحمال الواقعة على ھذا المنشأ
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Dead loads:   الأحمال المیتة) ١-٤-٣(

ام        كل ع ى بش ى المبن ة عل ة الواقع وع الأوزان الثابت ي   ، تتمثل الأحمال المیتة بمجم ا ف بم

ال    ائیة و أحم ر الإنش ة العناص ة و أوزان كاف زات الثابت تخدمة و التجھی واد المس ك أوزان الم ذل

ة    . ال التشطیب المستخدمة في ھذا المجمع الصناعيالقواطع و أعم ة النوعی یم الكثاف و فیما یلي ق

:لجمیع المواد الإنشائیة المستخدمة في ھذا المجمع
٣م/كغم٢٥٠٠= الكثافة النوعیة للباطون المسلح 

 ٣م/كغم٢٣٥٠= الكثافة النوعیة للباطون.

 ٣م/كغم٧٨٠٠= الكثافة النوعیة للفولاذ.

٣م/كغم٢٦٠٠= نوعیة للزجاج الكثافة ال.

 ٣م/كغم٢٥٠٠= الكثافة النوعیة للحجر.

 ٣م/ كغم٢٢٠٠= الكثافة النوعیة للقصارة.

 ٣م/كغم٢٣٥٠= الكثافة النوعیة للبلاط.

 ٣م/كغم ١٨٠٠= الكثافة النوعیة للرمل.

Live load:            الأحمال الحیة) ٢-٤-٣(

ا  ، ویقصد بھا أحمال الخدمة زین و غیرھ . من متاع و بضائع و معدات و أشخاص و تخ

قوف   ا  و التي ستطبق على عقدات و س أ لاحق ال        . المنش د الأحم م تحدی د ت روع فق ذا المش ي ھ و ف

م ٢٠٠(بـ الحیة الواقعة على عقدات القسم الإداري من المجمع  ي     أ، )٢م/كغ ة ف ال الحی ا الأحم م

.²م/ وذلك بناء على أكبر قیمة متوقعة للحمل)٢م/كغم٥٠٠(قیمةبد تم تحدیدھا قسم التخزین فق
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:الأحمال البیئیة) ٣-٤-٣(

Snow loads:     [5]الأحمال الثلجیة) ١-٣-٤-٣(

ى الم وج عل ؤثر الثل رى ت ات الأخ ن المنش ا م ناعیة كغیرھ ات الص ب . نش الي یج و بالت

و من الجدیر بالذكر أن أحمال ، مراعاة الأحمال الناتجة عن تراكمھا في عملیة التصمیم الإنشائي

روع      ة المش راد إقام ة الم ا الثلوج تعتمد على الارتفاع عن سطح البحر و على طبیعة المنطق ،فیھ

ال أیض ذه الأحم د ھ ا و تعتم أ  كم قف المنش اء س ى انحن ذا    . ا عل ي ھ وج ف ال الثل ن أحم ا ع أم

ادا ) مربعمتر / كغم١٠٠(فتم تحدیدھا بقیمة المشروع، ة      اعتم ذه القیم اني، وھ ود الألم ى الك عل

ر            لال عم ل خ ة الخلی ي منطق ر ف ن أن تظھ ي یمك ال الت ر الأحم ى تغطي أكب م ٩٠(المبن ر  / كغ مت

). ٨-٣(الشكل لاحظ)مربع

.أحمال الثلوج الواقعة على المبنى): ٨-٣(الشكل 

qs = 100 kg/m²

منطقة تراكم ثلوج
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ود     ى الك ادا عل یلاحظ أن انحناء سقف المنشأ قلیل، بحیث لا یتم تخفیض ھذه القیمة اعتم

ح   الألماني، إضافة إلى أن الأحمال الثلجیة یتم زیادة قیمتھا في منطقة تراكم الثلوج كما ھو موض

).٨-٣( في الشكل 

Wind loads:                                                            یاحأحمال الر) ٢-٣-٤-٣(

ذات        ة بال آت المعدنی ى المنش أثیر عل دید الت ال ش ي   ، یعتبر ھذا النوع من الأحم ي تغط فھ

بب   ، مساحات واسعة اردة بس فالمنشات الفولاذیة یجب إن یتم تثبیتھا بشكل یقاوم قوى الریاح الط

رى وزنھا الخفیف  ى       . مقارنة مع المنشات الخرسانیة الأخ اح عل ال الری د أحم ام تعتم كل ع و بش

.علو المبنى عن سطح الأرض و شكل المبنى في المسقط الأفقي و المقطع العمودي

اني      ود الألم ى الك ادا عل دھا اعتم رعة     ، أحمال الریاح سوف یتم تحدی د س تم تحدی ث ی حی

طح الأرض  الریاح القصوى اعتمادا على ارتفاع ال وق س اح     ، مبنى ف رعة الری ى س ادا عل و اعتم

:و یكون) qo(القصوى یتم تحدید الضغط الدینامیكي 

qw = qo x Cf …… ...........…………...................................................................... )١-٣(

qo = ½ x s x v²…………….........…………......……………………..( ٢-٣ )

Where:

qw = Static presure N\m².

qo = dynamic pressure N\m².

Cf = Shape factor.
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V=35.8 m/s

V=28 m/s

V=42 m/s

H
=
1
0
0
 m

qo=0.5

qo=0.8

qo=1.3

qo=1.3 KN/sq.m

ل    ع معام إن الضغط الناتج بسبب الریاح عبارة عن حاصل ضرب الضغط الدینامیكي م

).أ-٩-٣(الشكل   لاحظ ، توزیع الضغط في المسقط الأفقي و العمودي

Closed(ومن خلال الإطلاع على المخططات نجد أن مبنى المجمع الصناعي مغلق 

Building (كما ھو موضح في الشكل ، وھو أیضا مستطیل الشكل)أي أن قیم معامل ). ب-٩- ٣

یتم تحدیدھا اعتمادا على اتجاه الشمال المحدد في المخططات ) Shape factor(الشكل للمبنى 

).جـ/ب-٩- ٣(كما ھو موضح في الشكل ) Shape factor(كل للمبنىإذ تتوزع قیم معامل الش

.Vوسرعة الریاح qoالدینامیكي تأثیر ارتفاع المبنى على قیمة الضغط ): أ-٩-٣(الشكل 
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W

Cf=0.8

Cf=-0.5

Cf=-0.7Cf=-0.7

W

Cf= -0.5Cf= 0.8

Cf=-0.6

قیم معامل ر، عبتوزیع ضغط الریاح الناتج على المسقط الأفقي في المبنى): ب-٩-٣(الشكل 

.Cfالضغط 

توزیع ضغط الریاح على المسقط العمودي للمجمع الصناعي ): ج-٩-٣(الشكل 
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Seismic loads:الزلازلأحمال ) ٣-٣-٤-٣(

ك           الزلازل وذل أثر ب ث تت زلازل بحی اه ال رة تج یة كبی ة ذات حساس آت المعدنی المنش

انیة    لان آت الخرس ة بالمنش ة مقارن اص الطاق ل امتص ة معام اض قیم ائص  ، خف لال خص ن خ م

ولاذ  دم . الف ار عن ین الاعتب زلازل بع ال ال ذ أحم ى بأخ ذلك یوص ى ال ة عل آت الفولاذی ام المنش تق

ة  اطق زلزالی وط أو من اح    ، خط أثیر الری ن ت اتج ع ائي الن اب الإنش دھا الحس ارن عن ع ، و یق م

.و تعتمد الحالة الأسوأ منھا بغیة اختیار عناصر المنشأ. الزلازلالحساب بتأثیر أحمال 

ات     ة اتجاھ ي ثلاث ادة ف ان   : و تؤثر القوى الزلزالیة ع ان أفقی ي  (اتجاھ ولي و عرض ).    ط

نخفض   . یھمل عادة في الحسابات، و اتجاه شاقولي أو عامودي ناعي م و نظر لكون المجمع الص

. قیم أحمال الزلازل المؤثرة على ھذا المجمع الصناعيفسوف یتم إھمال ، الارتفاع نسبیا

Crane loads:  أحمال الرافعة) ٤-٤-٣(

ال      م الأحم ناعي أحد أھ تشكل الرافعة الموجودة في منطقة التصنیع في ھذا المجمع الص

ن    زء م ذا الج ى ھ ة عل ناعي الواقع ع الص ر     . المجم ى العناص ة عل ذه الرافع أثیر ھ ا وان ت كم

ود   ن      ) Impact factor(الإنشائیة یتم أخذه على اعتبار وج ر م ھ اكب امیكي قیمت ل دین ) ١(معام

ن    ). ١.٢(وبناء على معطیات المنتج فان قیمة ھذا المعامل تساوي  ة م ال الرافع حیث تتألف أحم

-:مایلي
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اط       أحمال عمودیة ناتجة عن و-١ ى نق وزع عل ة و تت ال المرفوع ة و وزن الأحم زن الرافع

ة       ) عجلات الرافعة (الارتكاز  ال المرفوع ع الأحم ع موق اوي یتناسب م بشكل غیر متس

).ب/أ-١٠-٣(الشكل ظلاح، بالنسبة لنقاط الارتكاز

[7]توزیع الأحمال المرفوعة على نقاط الارتكاز):أ-١٠-٣(الشكل 

[7]توزیع الأحمال المرفوعة على نقاط الارتكاز:)ب-١٠-٣(الشكل 

F max F min
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حیث إن تحدید ھذه الأحمال یتم من قبل المنتج حیث یتم تزوید المصمم بمواصفات 

و تشكل المواصفات تصمیم قوى الدولایب العظمى و الصغرى و ، تصمیم ھذه الرافعة

).١١-٣(لاحظ الشكل . كذلك على شكل یبن المسافات ما بین الدولایب

.[7]) طن ٥(صورة توضح مواصفات الرافعة ):١١-٣(الشكل 

ة و          -٢ دء الحرك بب ب ارعیة بس ال تس ن أحم ة ع ولي ناتج اه الط ة بالاتج ة طولی ال أفقی أحم

كل   ، بسبب التوقف باتجاه حركة الرافعة ظ الش تم      ). ١٢-٣(لاح وى ی ذه الق یم ھ ا أن ق كم

.تحدیدھا من قبل المصنع

ن     الناتجة عن الفقوى الانحرا-٣ ادة ع تج بالع ة تن سرعة الغیر منتظمة في عجلات الرافع

ة     اه الحرك ى اتج امودي عل د   ،  بدء الحركة و یكون اتجاه ھذه القوى باتجاه ع تم تحدی و ی

).١٣-٣(لاحظ الشكل ، من قبل المنتجفقیم قوى الانحرا

د     -٤ د ب وع عن وزن المرف یلان ال ء قوى أفقیة باتجاه عمودي على اتجاه الحركة ناتجة عن م

).١٤-٣(انظر الشكل ، و ھذه القوى یتم تحدیدھا من قبل المنتج، الحركة
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أحمال أفقیة طولیة بالاتجاه الطولي للرافعة الثقیلة): ١٢-٣(الشكل 

قوى الانحراف الناتجة عن السرعة غیر المنتظمة للعجلات): ١٣-٣(الشكل 

LL

max Hs
min Hs
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ةقوي أفقیة باتجاه عمودي على اتجاه الحرك): ١٤- ٣(الشكل

.في ما یلي جدول یبین قیم القوى العمودیة و الأفقیة للرافعة اعتمادا على مواصفات المنتج

).Crane(جدول یبین قیم القوى العمودیة و الأفقیة للرافعة الثقیلة ): ١-٣(جدول

Force value (KN)Force type

2.25HM1

9.34HM2

12.15S

2.36Hs1.1

9.79Hs2.1

-9.79Hs1.1

0.0Hs1.2

0.0Hs2.2

m ax Hm

m ax Hm

m in H m

m in H m
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Forklift loads):المزلیق(أحمال الروافع المتحركة ) ٥-٤-٣(

ع         ال الرواف ع لأحم ذا المجم ن ھ زین م اج و التخ تتعرض الفرشة الأرضیة في قسم الإنت

ى    حیث تعتمد ھذه الأحمال على و. العمودیة) قالمز لی(المتحركة  افة إل ھا بالإض زن الرافعة نفس

كل   .الأوزان الناتجة عن حمولتھا أیضا ظ الش ة      ) ١٥-٣(لاح ة و كیفی ة متحرك ین رافع ذي یب و ال

أ      یة المنش ى أرض ا عل ة عنھ ال الناتج ع الأحم امیكي                ، توزی ال دین ار مع ین الاعتب ذ بع و یؤخ

)impact factor ( بقیمة اكبر من)ل  و اعتمادا على الك، )١ دینامیكي  ود الألماني فیبلغ المعام ال

)١.٤.(

[11])قالمزلی(الأحمال الناتجة عن الروافع المتحركة ):١٥-٣( الشكل 

0.80m

P = 30 KN
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CHAPTER 4

STRUCTURAL ANALYSIS OF INDUSTRIAL BUILDING

4.1 - Introduction:

In General, all parts of the steel framework of the structure shall be capable of

sustaining the most adverse combination of the Dead loads, prescribed imposed

loads, wind loads, earthquake loads where applicable and any other forces or loads to

which the building may reasonably be subjected without exceeding the permissible

stresses specified in this standard.

4.2 - Material Characteristics:

The existing profiles are from Germany and they satisfied the conditions of the

Germany Code in addition to there are available types of profiles.

There are two main types of steel used:

1- (ST-37) t ≤ 40 mm Fy = 240 N/ mm², Fu = 360  N/mm² [6]

t > 40 mm  Fy = 215  N/ mm², Fu = 360 N/mm²

2- (ST-52) t ≤ 40 mm Fy = 360   N/ mm², Fu = 510 N/mm² [6]

t > 40 mm Fy = 325   N/ mm², Fu = 510  N/mm²
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4.3 - Design of corrugated Roofing sheets (CS.1):

The used system is:

Figure (4 -1): system of loads for corrugated roofing sheets (CS.1).

Loads: -

Selected from specifications of producer (1).

Hoesch – Sandwich elements.

(TL 75 in ta = 0.63 mm       ti =0.55 mm)

Figure (4 -2): section of corrugated roofing sheets (CS.1).

t
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Table (4 -1): properties of corrugated roofing sheets types(1).

Dead load   D= 12.5 kg/m ²   =0.125 KN/m².

Snow load    S= 100 kg/m ²   =1.00 KN/m². [8]

Wind load    qw= 0.80 × -0.6 = -0.48 KN/m². [8]

The design of corrugated steel roofing (corrugated sheet) will be done by using

design values of allowable snow load and allowable wind load; these values are

taken from table produced by the producer.
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Table (4 -2): Table of design values of allowable snow load [5]

S allowable = 1.5 KN/m² > Existing S = 1.0 KN/m²

Allowable L for Wind load (0.48 KN/m²)= 5.37 m > Existing span =2.5 m
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Table (4 -3): Table of design values of allowable Wind load [5]
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4.4 – Design of Purlines: -

4.4.1 -Design of Purlines P.1: -

1- System and loads: -

A. System

Figure (4 –3): System of loads for Purlines P.1.

B. Dead Load

Dead load of beam = 0.5 KN/m.

Load of corrugated sheets = 0.12 ×2.5 = 0.32 KN/m.

Installation = 0.1 × 2.5 = 0.25 KN/m.

C. Snow load 1× 2.5 = 2.5 KN/m.

D. Wind load = -0.48 × 2.5 = -1.2 KN/m.

E. Load combination

- I: 1.2 D + 1.6 S = 1.2 × 1.1 + 1.6 × 2.5 = 5.32 KN/m.

- II: 0.9 D – 1.3 W = 0.9 × 1.1 – 1.3 × 1.2 = -0.57 KN/m.
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2- Design of beam due to load combination (I): -

Figure (4- 4): Shear & Moment diagram of load combination (I).

Mu = 29.1 KN.m

Vu = 23.83 KN

A. Design of bending moment (Select ST-37, fy = 240 Mpa): -

Assume compact section

Mn = Φ Mp ≥ Mu,               Mp = fy × Z

Mp = 240 × Zreq. × 0.9 ≥ Mu

9.0240

1029.1
Zreq.

6




 = 134.7 Cm³

So Zreq. = 134.7 Cm³

Select (IPE-220)
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Check of compact section: -

λfl < λp

p
tf

bf
fl  


 98.5

2.92

110

2

01.11
8.34

6565


fy
p .

λfl = 5.98 < λp = 11.01 ………………………………...………………..….Ok

5.108
8.34

640
30

9.5

177
 p

w

t
w  ………………………………….Ok

Nominal moment strength: -

Φ fy × Z ≥ Mu

0.9 ×240×143×10³ = 30.9 KN.m

Φ fy × Z = 30.9 ≥ 29.1 KN.m

B. Design requirement of shear :-

Ф Vn ≥ Vu

Vn = 0.6×fy ×Aw

Aw = tw × d = 5.9×177 = 1044.3 mm²

Vn = 0.6×240×1044.3 = 15.4 KN.

Ф Vn = 0.9×150.4 = 135.4 KN > 23.83 KN.

C. Design requirement of deflection: -

∆max (live load) ≤ L / 360.

∆max = (7.5 × 1000) / 360 = 20.83 mm.

 )1(1.0
48

5 2

MrMMf
EI

l
 .

 )10136(1.010127
102770102148

75005 44
44

2





 =11.4mm

∆ = 11.4 mm < ∆ max = 20.83 mm. ……………The Condition is satisfied

Selected profile is IPE-220
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3- Design of fasteners due to load combination (II):-

A- System and loads:-

Figure (4 -5): system of loads for combination (II)

Maximum value of support reaction at B (Bu = -4.52 KN)

A-a selected material M 5.6 where: fy (bolt) = 300N/mm²

Fu (bolt) = 500 N/mm²

B- Design of Bolts:

Two bolts are used to prevent the translate of beam in Y-Direction.

Where: Ø tn ≥ tu            tu=Bu

0.75 × fu (bolt) ×0.75×2A (bolt) ≥ Bu

0.75 × 500×0.75×2(π×d²/4) ≥ Bu





75.050075.0

42 Bu
reqd

2
3

2 23.10
75.050075.0

41052.4
mmreqd 







d req.=3.2 mm
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Figure (4 -6): Method of connection of fasteners.

4.4.2 - Design of purlines P.2:

1- System and load:-

A. System

Figure (4 –7): system of loads for Purlines P.2.

TWO
BOLTS
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B. Dead Load

Dead load of beam 0.5 KN/m.

Load of corrugated sheets 0.12 × 2.5 = 0.32 KN/m.

Installation 0.1 × 2.5 = 0.25 KN/m.

C. Snow load 1× 2.5 = 2.5 KN/m.

D. Wind load -0.48 × 2.5 = -1.2 KN/m.

E. Load combination

- I: 1.2 D + 1.6 S = 1.2 × 1.1 + 1.6 × 2.5 = 5.32 KN/m.

- II: 0.9 D – 1.3 W = 0.9 × 1.1 – 1.3 × 1.2 = -0.57 KN/m.

2- Design of beam due to load combination (I): -

Figure (4-8): Shear & Moment diagram of load combination (I).

Mu = 37.41 KN.m

Vu = 19.95 KN.m
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A. Design of bending moment (select ST-37, fy = 240 Mpa): -

Assume compact section

Mn = Φ Mp ≥ Mu                                  , Mp = FY × Z

Mp = 240 × Zreq. × 0.9 ≥ Mu

.15.173
9.0240

104.37 3
6

CmZreq 





So Zreq. = 173.15 Cm³

Select (IPE-240)

Check of compact section: -

λfl < λp

.12.6
8.92

120

2
p

tf

bf
fl  




.01.11
8.34

6565


fy
p

λfl = 6.12 < λp = 11.01 …………………………………...……………..….Ok

5.108
8.34

640
6.30

2.6

190
 p

tw

t
w  ………………………………Ok

Nominal moment strength: -

Φ fy × Z ≥ Mu

0.9 ×240×183×10³ = 39.53 KN.m

Φ fy × Z = 39.53 ≥ 37.4 KN.m

B. Design requirement of shear :-

Ф Vn ≥ Vu

Vn = 0.6×fy ×Aw

Aw = tw × d = 6.2 ×190 = 1178 mm²

Vn = 0.6 2×240×1178 = 175.3 KN.

Ф Vn = 0.9×175.3 = 157.8 KN > 19.95 KN.
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C. Design requirement of deflection: -

∆max (live load) ≤ L / 360.

∆max = (7.5 × 1000) / 360 = 20.83 mm.

54

44

103891021384

75005.25

384

5





EI

wl
=12.6mm < ∆ max = 20.83 mm.

From these results we will use the maximum section Dimensions of (I) profile, so we

will use (I) profile (IPE-240) for all purlines.

4.5 - Design of bracing:

4.5.1- Design of wind bracing of roof (br.1):

1. System and loads:

A. System:

Figure (4-9): System and loads of wind bracing of roof.
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B. Loads: -

Figure (4-10): Wind loads act on bracing of roof.

qw= (0.4 + 0.64) × 13×0.5×0.5 = 3.38 KN/m

qw f = factored wind load = 3.38×1.6 = 5.41 KN/m.

2. Design of tension:

tu = 56.91 KN

.tn ≥ tu

.tn = 0.75 × Ab × fu = 0.75 × Ab × (0.75 × fu)

.281
36075.075.0

1091.56

75.075.0
Re

3

mm
fu

tnt
quierdAb 












4
281

2d
Ab




  d = 18.9 mm (select d= 20 mm)

Select (Rod ST-37, 20 mm, L= 7.90 m)
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4.5.2- Design of wind bracing at the sides (br.2):

1. System and loads:

Figure (4-11): System and loads of wind bracing at the sides

2. Design of tension:

In this system it's shown that the member (BC) is tension member, and member (AD)

is compression member, in this case we will ignore the compression member.

So:

Tension force in member (BC) = tu (BC) = 122.2 KN

.600
36075.075.0

102.122

75.075.0
Re

3

mm
fu

tnt
quierdAb 












4
281

2d
Ab




  d req. = 27.6 mm (select d= 28 mm)

Select (Rod ST-37, 28 mm, L= 15 m)
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4.6 - Design of mainframe: -

The industrial building roof will be designed as frame & truss, and then the best

structural solution must be used, but the selected structural system must be

acceptable for architectural engineer.

4.6.1 - Design of Roofing system as main frame: -

1- System and loads: -

F. System

Figure (4-12): system of loads for frame.
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G. Dead Loads:-

Dead load of frame D = 0.43×7.5 =3.22 KN/m.

Dead load of frame D = assumed = 1.0 KN/m.

Dt= 4.22KN/m.

Dt= (4.22)/ (Cos6.84) = 4.25 KN/m.

H. Snow load = 1×7.5 = 7.5 KN/m.

I. Wind load = -0.48×7.5 = -3.6 KN/m.

J. Load combination

- I: 1.4 D.

- II: 1.2 D + 1.6 S = 1.2 × 4.25 + 1.6 × 7.5 = 17.1KN/m.

- III: 0.9 D – 1.3 W = 0.9 × 4.25 – 1.3 × -3.6 = -0.855 KN/m.

2- Design of frame due to load combination: -

Figure (4-13): Shear & Moment diagram of load combination.
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Mu = 361.361 KN.m

Vu = 151 KN

D. Design of bending moment (select ST-37, fy = 240 Mpa): -

Assume compact section

Mn = Φ Mp ≥ Mu                , Mp = fy × Z

Mp = 240 × Zreq. × 0.9 ≥ Mu

.3
6

1619
9.0240

10361.361
CmZreq 






So Zreq. = 1619 Cm³

Select (HEB-400)

Check of compact section: -

λfl < λp

p
tf

bf
fl  


 98.6

5.212

300

2

.01.11
8.34

6565


fy
p

λfl = 7.895 < λp = 11.01 …………………..……………...………...………Ok

.5.108
8.34

640
1.22

5.13

298
 p

tw

t
w  ………………………………Ok

Nominal moment strength: -

Φ fy × Z ≥ Mu

0.9×240×1620×10³ = 362.9 KN.m

Φ fy × Z = 362.9 ≥ 361.361 KN.m
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E. Design requirement of shear :-

Ф Vn ≥ Vu

Vn = 0.6. fy. Aw

Aw = tw. d = 13.5×298 = 4023 mm²

Vn = 0.6×240×4023 = 579.3 KN.

Ф Vn = 0.9×579.3 = 521.4 KN > 151 KN.

F. Design requirement of deflection: -

∆max (live load) ≤ L / 360.

∆max = (15 × 1000) / 360 = 41.67 mm.

 )1(1.0
48

5 2

MrMMf
EI

l
 .

  88.23)1015819(1.01013926
108.576102148

150005 44

64

2







∆ = 23.9 mm

∆ = 23.9 mm < ∆ max = 41.67 mm. ………………The Condition is satisfied

Selected profile is HEB-400

3- Design of fasteners due to load combination (III):-

A- System and loads:-

Figure (4-14): system of loads for combination (III)
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Maximum value of support reaction at B (Bu = -33.8KN)

A-a selected material M 5.6 where: Fy (bolt)= 300N/mm²

Fu (bolt)= 500 N/mm²

B- Design of Bolts:

Two bolts are used to prevent the translate of beam in Y-Direction.

Where:    Ø tn ≥ tu            tu=Bu

0.75 × fu (bolt) ×0.75×A (bolt) ≥ Bu

0.75 × 500×0.75×2(π×d²/4) ≥ Bu





75.050075.02

42 Bu
reqd

2
3

2 0.153
75.050075.02

4108.33
mmreqd 







d req.=8.7 mm

Figure (4-15): Method of connection of fasteners.
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4.6.2- Design of Roofing system as a truss:

1. System and loads: -

Figure (4-16): System and loads of truss.

2. Design of top member (O): -

A. Design of member as a compression member:

Pu = -208.7 KN

Select (IPE- 180)

Lx = 125 cm, Ly = 250 cm

85.16
42.7

1251








Rx

lxk
x

95.121
05.2

2501








ry

lyk
y

31.1
1021

240
95.121

2/1

42

2/1

2
























E

fy
yc
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131.1 Qc where Q = 1 for this case.

Fcr = 0.658 power (Q × λc²) × (Q×fy) = 0.658 power (1 × 1.3×1²) × (1×240)

   2401658.0658.0
22 1.311   fyQFcr cQ 

Fcr= 117 Mpa

 Pn ≥ Pu

(0.85 × 117 × 2390 = 237.7 KN) > (Pu = 208.7 KN)

(SO it’s Safe)

B. Design of member as a tension member:

. tn ≥ tu

(. tn =0.9 × 240 × 2390 = 516.24 KN) > (tu = 84.13 KN)

(SO it’s Safe)

The selected profile (IPE-180) is safe and economical

3. Design of diagonal member (D):

A. Design of member as a compression member:

Pu = -111.5 KN

1. Select rectangular tabular section Where:

Ag = 13.4 cm², Rx = 3.62 cm, Ry = 2.41 cm

Ly = 325 cm

8.134
41.2

3251








ry

lyk
y

45.1
1021

240
8.134

2/1

42

2/1

2
























E

fy
yc
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   2401658.0658.0
22 1.451   fyQFcr cQ 

Fcr= 99.54 Mpa

2
3

18.13
54.9985.0

105.111
CmAg 






But (Ag selected = 13.4 cm² > 13.18 cm²)……………………………………...OK

2. Check of local plate buckling: -

33.9
5.4

5.42260





t

b


3.40
240

625625


fy
r

So: (λ = 9.33 < λr = 40.3) …………………Local plate buckling will not control

145.1  Qc where Q = 1 for this case.

. Pn ≥ Pu

(×Fcr × Ag = 0.85 × 99.5 × 1340 = 113.3 KN > Pu =111.1 KN)

(SO it’s Safe)

B. Design of member as a tension member:

tu =134.33 KN

. tn ≥ tu

( × tn =0.9 × 240 × 1340 = 289.4 KN) > (tu = 134.33 KN)

(SO it’s Safe)

The selected profile (100×60×4.5) is safe and economical
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4. Design of perpendicular member (P):

A. Design of member as a compression member:

Pu = -192.89 KN

1. Select rectangular tabular section Where:

Ag = 10.9 cm², Rx = 3.66 cm, Ry = 2.45 cm

Ly = 0.50 + 0.833 = 1.33 m =133 cm

29.54
41.2

1331








Ry

lyk
y

584.0
1021

240
29.54

2/1

42

2/1

2
























E

fy
yc

   2401658.0658.0
22 0.581   fyQFcr cQ 

Fcr= 208.48 Mpa

2
3

88.10
48.20885.0

1089.192
CmAg 






But (Ag selected = 10.9 cm² > 10.88 cm²)……………………………………..OK

2. Check of local plate buckling:

67.12
6.3

6.32260





t

b


3.40
240

625625


fy
r

So: (λ = 12.67 < λr = 40.3)

Local plate buckling will not control

Qc = 0.584 × 1=0.584                  where Q = 1 for this case.

× Pn ≥ Pu

(F × cr × Ag = 0.85 × 208.5 × 1090 = 193.2 KN > Pu =192.9 KN)

The selected profile (100×60×3.6) is safe and economical
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5. Design of lower member (U): -

A. Design of member as a compression member:

Pu = -194.8 KN

Select (IPE- 180)

Lx = 125 cm, Ly = 250 cm

85.16
42.7

1251








Rx

lxk
x

95.121
05.2

2501








ry

lyk
y

31.1
1021

240
95.121

2/1

42

2/1

2
























E

fy
yc

131.1 Qc Where Q = 1 for this case.

   2401658.0658.0
22 1.311   fyQFcr cQ 

Fcr= 117 Mpa

. Pn ≥ Pu

(0.85 × 117 × 2390 = 237.7 KN) > (Pu = 194.8 KN)

(SO it’s Safe)

B. Design of member as a tension member:

Tu=128.5 KN

. tn ≥ tu

(. tn =0.9 × 240 × 2390 = 516.24 KN) > (tu = 128.5 KN)………….(SO it’s Safe)

The selected profile (IPE-180) is safe and economical
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4.6.3 - Comparison between the two systems (frame &truss) and selection.

1. The total weight of frame (HEB-40) = 35.092×8 =280.7 KN

2. The total weight of truss:-

W=0.188×22.64+39.6×0.105+36.07×0.0855+22.5×0.188 = 15.73

Wt = 15.73× # of truss = 15.73 × 8 = 125.8

The total weight of frame is greater than the total weight of truss, so it's not

economical if it's compared with truss but if the truss is used in this case we will rise

the height of structure, in order to that the cost of truss is higher than that in frame

because it's connected by welding. So this solution is not acceptable from

architectural engineer.

So the frame system is selected

4.7 - Design of crane girder (Run way beam): -

Crane girders are provided in workshops, power and factories, to support

cranes for movement of machinery, raw way materials and finished goods. The

present-day cranes are electrically operated (EQT) and move at a greater speed, thus

cause greater stresses due to impact. For smaller crane capacities wide flanged

I-beams are used. For heavy capacities I-girder with channel riveted on top is used.

For heavy capacities build-up plate girder with channel or built-up channel at top is

provided.
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A. System and loads according to (Y) axis:

1. System:

Figure (4-17): System and loads of crane according to (Y) axis.

2. Loads:

Dead loads:

Dead load of crane girder (I) profile=1.5 KN/m.

Dead load of Channel profile (50×50 mm) = 0.5 KN/m.

Total Dead load = 2 KN/m.

Live loads:

R max = 34.9 KN (Where impact factor = 1.25)
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B. System and loads according to (X) axis:

1. System:

Figure (4-18): System and loads according to (X) axis.

2. Loads:

HM.1 = 9.79 KN    these values taken from table (3-1).

HM.2 = 2.36 KN

C. System and loads according to longitudinal axis:

Figure (4-19): System and loads according to longitudinal axis.
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D. Moment about (X) and Shear force in (Y) direction:

1. Moment:

Fore maximum bending moment about (X) the distance between one wheel and the

resultant of two wheels should be bisected by the center of span as shown in figure

(4-17).

So:  (x= 3.25m, y= 2.25m, the distance between the two wheels= 2m)

Ay = 34.9× 1.6×1.25/7.5 = 60.49 KN

Maximum B.M (due impact factor=1.25) = Ay × 3.25

= 60.49 × 3.25 = 196.6 KN.m

Maximum B.M due to self load and crane rail =
8

wl

= mKN.28.3
8

5.75.3




__________________________________________________________

Total maximum bending moment = 196.6 + 3.28 = 199.88 KN.m

2. Shear:

For maximum shear, one of the two wheels should be at the support as

Shown in figure (4-26), but in this case the value of (x=0 m) and (y=5 m).

So: at (x= 0 m, y=5 m) the value of maximum shear= Vy max.

Where Vy max = 69.8 KN +
2

5.75.3 
= 82.92 KN.
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E. Moment about (Y) and Shear force in (X) direction:

1. System:

Figure (4-20): location of horizontal loads that produce the maximum moment

2. Maximum Shear and moment Values:

My max. = 32.56 KN.m

Vx max = 15.68 KN

F. Design of crane girder (B.2):

1. Selection of profile:

A trial section is chosen and checked for stresses. The section is revised if

Stresses are not within the limits or if it is uneconomical.

Use HEB-360 (h=360 mm, W=1.50 KN/m)
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Figure (4-21): Profile of crane girder (B.2).

2. Determination of moment of inertia (Ix, Iy):

mmY 10.26
5.1226123005.224950

1693005.221693005.22205950







Y  = 26.10 mm.

)()()(
12

104319 22
3

5 channelAdIprpfileAdchannel
hb

Lx 




42
3

5 7.433295.1774950101.26181)(
12

4950
104319 CmchannelLx 




0X

.10129
12

5.12261

12

)3005.22(2 4
33

CmLy 






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3. Maximum tensile and compressive Stresses:

)240(
..

Mpafy

Cx

Ly
b

yMu

Cy

Lx
b

xMu







)240(

150

1010129
9.0

106.325

207

107.43329
9.0

108.1998
4

5

4

5

Mpafy 












 160 Mpa < 240 Mpa …………. (It's safe)

4. Maximum Shear:

V×Vn ≥Vu       but (v=0.9)

Vn = 0.6×fyw×Aw = 0.6×20×3262=469728 N

V=0.9×469728 = 422 KN

(V= 422.7 KN) > (Vu = 82.92 KN)

5. Size and length limitations for fillet weld (Channel with I profile):

Figure (4-22): Dimensions of fillet welds.

Note: For more about design of bolts & welding, see Appendix 7.3/7.4.



77

 
bLy

SXVy
U

.

.
Where b=2×te

.32.18
51.33210129

1501092.82 3

MpaU 





.72362406.05.33275.02406.0275.0 MpateRnw 

 URnw …………………OK (It’s safe)

6. Limitation of deflection:

∆max (live load) ≤ L / 700

L/ 700 = 10.71 mm

Figure (4-23): Equation of deflections values.

 22 43
24

max aL
EI

aP
But 






 22

85

3

75.245.73
1043329102124

2.751062.43
max 







∆max = 7.61 mm < 10.71 mm …………………………………… (It's safe)
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7. Check for local web yielding:

Figure (4-24): Ability of local web yielding

75.2
4


CL
X

L= 2.5 K + N     where N = 0

.5.49
2

261360

2

1
mm

hH
K 







L= 2.5×0.0495 = 0.1238 m

Rn = L× tw × fy × Ø = 0.124 × 0.0125 × 2.4 × 10  × 1 = 372

372 > (Ru = 69.8). …………………………………………………. (It's safe)

So the profiles used (HEB-360) and channel (50×50) is safe
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G. Design of Bolts for crane with columns: -

In this case the design of bolts will be to resist shear force, where Ru = 17 KN.

Select the material M5.6 Where:

2

2
y

/500

/300

mmNf

mmNf
b

u

b





mmd

boltsselect

mmA

A

Am

Am

req

b

b

b

b

q

5.8

..2

3.113

101715004.075.0

1017Fu0.40.75

Fu0.40.75Rn

RuRn

.

2

3

3b

b

.Re













4.8 - Design of solid slabs:

The critical sections for positive and negative moment in the spans of a

continuous girder are located at or near mid span and at the supports. These

sections must be designed for the maximum moments created by both dead and

live loads. Analysis for the dead load, which is fixed in position and magnitude,

needs to discussion; however, the maximum values of positive and negative

moment at critical sections in a given span are produced by different live load

patterns.
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4.8 - Design of solid slab (S.2):

A. System and loads:

Figure (4-25): System and loads of solid slab S.2.

B. Shear and moment Diagrams:

Figure (4-26): Shear and Moment Diagrams
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A-span (1) & (6):-

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Requirement of deflection:

Cmm
l

h 3030.0
24

5.7

24


3- Design of bending moment:

Mu = 82.08 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

Cm
barD

chd 27
2

2
230

2

)(


82.18
2585.0

400

85.0







cf

fy
m

8.0

08.82





Mu
Mn =102.6 KN.m

047.1
27.01

6.102
22





bd

Mn
Rnreq

0036.0
400

407.1
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As req = ρ req ×b×d = 0.0036×100×27 = 9.72 cm²/m

Select 20@ 25 cm Ast provided = 12.57 cm²/m

Ast ≥ 0.2 × Asl  Ast = 0.2 × 12.5=2.5 cm²/m

Where:  Asl = longitudinal steel.

Ast = transverse steel.

Select 10 @ 25 cm Ast provided = 3.14 cm²/m
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4- Design of shear:

Vu=75.63 KN

Vu at ( d
a


2
) = 68.38 KN (by interpolation)   (a= width of beam)

Φ× 10027025
6

1
75.0

6

1
75.0  dbcfVc

Φ× Vc =168.75 >68.38 so the limitation is satisfied

No shear reinforcement is required

B-span (2):

1-design of bending moment:

Mu = 7.75 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD

chd 27
2

2
230

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .69.9
8.0

75.7





133.0
27.01

69.9
22





bd

Mn
Rnreq

00033.0
400

133.0
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's not satisfied

As req = ρ req ×b×d = 0.00033×100×27 = 0.891 cm²/m

But As needed =As req×1.3 = 1.16 cm²/m
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Select 8 @ 25 cm Ast provided = 2.01 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 2.01=0.402 cm²

Select 6 @ 33 cm Ast provided = 0.85 cm²/m

C-span (3) & (4):

Design of bending moment:

Mu = 58.03 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD

chd 27
2

2
230

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .53.72
8.0

03.58





995.0
27.01

53.72
22





bd

Mn
Rnreq

00254.0
400

995.0
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's not satisfied

As req = ρ req ×b×d = 0.00254×100×27 = 6.858 cm²/m

But As needed =As req×1.3 = 8.92 cm²/m

Select 20@ 25 cm Ast provided = 12.56 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 12.56=2.51 cm²

Select 10 @ 25 cm Ast provided = 3.15 cm²/m
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D-span (5):

Design of bending moment:

Mu = 13.6 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD

chd 27
2

2
230

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .17
8.0

6.13





233.0
27.01

17
22





bd

Mn
Rnreq

0059.0
400

233.0
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As min = ρ min ×b×d = 0.0035×100×27 = 9.45 cm²/m

As req = ρ req ×b×d = 0.0059×100×27 = 1.566 cm²/m

Select  8 @25                      Ast provided = 2.01 cm²/m

Ast ≥ 0.2 × Asl  Ast = 0.2 ×2.01 = 0.402 cm².

Select  6 @33cm Ast provided = 0.85 cm²/m
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E-support (2&4&6): -

Design of bending moment:

Mu = 99.24 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD

chd 27
2

2
230

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .05.124
8.0

2.99





701.1
27.01

05.124
22





bd

Mn
Rnreq

0044.0
400

70.1
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As req =  ρ req ×b×d = 0.00444×100×27 = 11.975 cm²/m

Select 20@ 25 cm Ast provided = 12.57 cm²/m

Ast ≥ 0.2 × Asl  Ast = 0.2 × 12.57=2.51 cm²/m

Where:  Asl = longitudinal steel.

Ast = transverse steel.

Select 10 @ 25cm Ast provided = 3.14 cm²/m
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F-support (3&5): -

Design of bending moment:

Mu = 62.66 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD

chd 27
2

2
230

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .323.78
8.0

66.62





074.1
27.01
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22





bd

Mn
Rnreq
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400

074.1
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's not satisfied

As req = ρ req ×b×d = 0.0025×100×27 = 7.44 cm²/m

But As needed =As req×1.3 = 9.68 cm²/m

Select 20 @25cm Ast provided = 12.56 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 12.56=2.51 cm²/m

Select 10 @ 25cm Ast provided = 3.14 cm²/m
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c. Design values:

Table (4-4): Design of Solid Slab (S.2).

S1

Sup.

(A)

Mid Span

(1)
Sup. (B)

Mid

Span

(2)

Sup. (C)
Mid Span

(3)
Sup. (D)

Mid Span

(4)
Sup. (E)

Mid Span

(5)
Sup. (F)

Mid Span

(6)

Sup.

(G)

Mu

(KN.m)
0.0 82.1 99.2 7.8 62.66 58.0 99.2 59.8 62.66 13.6 99.2 85.5 0.0

Req.

Rn(Mpa)
0.0 1.407 1.701 0.133 1.074 0.995 1.701 0.995 1.074 0.233 1.701 1.466 0.0

Minimum

(ρ)
0.0 0.0035 0.0035 0.0035 0.0035 0.0035 0.0035 0.0035 0.0035 0.0035 0.0035 0.0035 0.0

Req. (ρ) 0.0 0.00364 0.0044 0.00033 0.0025 0.00254 0.0044 0.00254 0.0025 0.00059 0.0044 0.0038 0.0

Req. AsL

(cm²)
0.0 9.72 11.975 0.89 7.44 6.86 11.975 6.86 7.44 1.57 11.975 10.26 0.0

AsL

Provided

(cm²)

20@25cm

As = 12.56

20@25cm

As = 12.56

20@25cm

As = 12.57

8@25cm

As = 2.01

20@25cm

As = 12.57

20@25cm

As = 12.56

20@25cm

As = 12.57

20@25cm

As = 12.56

20@25cm

As = 12.57

8@25cm

As = 2.01

20@25cm

As = 12.57

20@25cm

As = 12.56

20@25cm

As = 12.56

Ast  (cm²)

10@25cm

As = 3.14

10@25cm

As = 3.14

10@25cm

As =3.14

6@35cm

As = 0.85

10@25cm

As =3.14

10@25cm

As =3.15

10@25cm

As =3.14

10@25cm

As =3.15

10@25cm

As =3.14

6@33cm

As =0.85

10@25cm

As =3.14

10@25cm

As = 3.14

10@25cm

As = 3.14
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4.9– Design of beams under the solid slab.

Design of Beam B.3: -

1- System and load: -

a) System

Figure (4 – 27): system of loads for Beam B.3.

b) Dead Load

Dead load of beam = 0.5 KN/m.

Dead load of beams = 0.5 KN/m

Dead load of slab =7.5×7.5=56.25KN/m

Total dead load = 56.75KN/m

Du=56.75(1.2) =68.1 KN/m

c) Live load =5×7.5= 37.5KN/m.

Lu=1.6×37.5=60 KN/m.

d) Load combination

- 1.2 D + 1.6 LL = 1.2 × 56.75 + 1.6 × 37.5 = 128.1 KN/m.
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2- Design of beam: -

Figure (4- 28): Shear & Moment diagram of load combination.

Mu = 900.7 KN.m

Vu = 480.4 KN.m

G. Design of bending moment (select ST-37, fy = 240 Mpa): -

Assume compact section

Mn  = Φ Mp ≥ Mu                , Mp = fy × Z

Mp = 240 × Zreq. × 0.9 ≥ Mu

.3
6

9.4169
9.0240

107.900
CmZreq 






So Zreq. = 4169.9 Cm³

Select (HEB-500)
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Check of compact section: -

λfl < λp

p
tf

bf
fl  


 35.5

282

300

2

.01.11
8.34

6565


fy
p

λfl = 5.96 < λp = 11.01 …………………………………...………...………Ok

.5.108
8.34

640
8.26

5.14

390
 p

tw

t
w  ………………………………Ok

Nominal moment strength: -

Φ fy × Z ≥ Mu

0.9 ×240× 4290×10³ = 926.6 KN.m

Φ fy × Z = 926.6 ≥ 900.7 KN.m

H. Design requirement of shear :-

Ф Vn ≥ Vu

Vn = 0.6×fy×Aw

Aw = tw × d = 4.5×390 = 5665 mm²

Vn =0.6×240×5655 = 814.32 KN.

Ф Vn =0.9×814.32 = 732.89KN > 480.4 KN.

I. Design requirement of deflection: -

∆max (live load) ≤ L / 360.

∆max = (7.5 × 1000) / 360 = 20.83 mm.

mm
EI

wl
86.6

10721021384

75005.375

384

5
64

24





 < ∆ max = 20.83 mm…Ok

So use HEB-500

Note: For more about design of bolts & welding, see Appendix 7.3/7.4.
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4.10- Design of Columns:

Sample of calculation“Design of Column (C.1)”:-

A. System and loads:

1. System:

Figure (4-29): System and loads of column (C.1).

2. Loads combinations for designing a structure of “mixed" construction:-

 Load combination (I): U=1.4DL.

- Pu = 76.564 KN.

- Mu = 0.45×10.5 = 4.72KN.m

 Load combination (II): U=1.2D+1.6L+0.5S.

- Pu = 219.02 KN.

- Mu = 0.45×+0.45×120.98+8×15.66 = 184.19KN.m
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 Load combination (III): U=1.2D+1.6S+0.5L.

- Pu = 197.724KN.

- Mu = 319.29KN.m

B. Column Strength: -

Select (HEB-450)

Local plate buckling Q=1.0

.1.16
240

250250
76.5

262

300





fy
r

tf

b
f 

8.42
240

663
57.24

14

344
 r

w

h
w 

Kx = 2.0     Ky = 1.0

2. a. Buckling about X-axis  Kx = 2.0

9.131
1.19

1006.122.





rx

LxKx

2. b. Buckling about Y-axis Ky = 1.0

9.171
33.7

1006.121.





ry

LyKy ………………....…………CONTROL

λc = 1.93 (1)

λc = 1.93  202.0
.



fy

fcrc

 Φc×fcr = 240×0.20 = 48 Mpa.

Φc×Pn = (48)(21800) = 1046.6 > Pu = 197.64KN………….……………………OK

2.0189.0
6.1046

64.197

.


 Pnc

Pu ..…………………………………...………….Satisfied

- Mp = Fy× Zx = 240×1990×103 =477.6 KN.m

- Mr = (Fy - Fr) Sx = (240-68.95)×13550×103 =604.4 KN.m
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Lb = 12.6 m.

.72.3
8.34

3.73300
mLp 




 
2)(211

1.
FrFyX

FrFy

Xry
Lr 




Where:-


2

1
EGJA

Sx
X




 2)(
4

2
Gj

Sx

Iy

Cw
X 

Using for (HEB-400)

 Sx =3550×103 mm².

 E = 210000 Mpa.

 G = 81000 Mpa.

 .10903.3
3

.2 6
33





htwtfb

J

 A = 21800 mm².

 12
23

258.5
24

.


hbtf
Cw

 Fr = 68.9 Mpa.

 X1 = 23805 Mpa.

 X2 = 2.263×10-5 Mpa.

  
2)(211

1.
FrFyX

FrFy

Xry
Lr 




  mLr 15.13)9.68240(10263.211
9.68240

238053.73 25 



 

Lr = 13.15 m

LP < Lb < Lr  3.76 < 12.6 < 13.15
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8.10)76.5
262

300

2
( 




tf

bf ………..…………………………………………...…OK

.125.00419.0
218002409.0

1064.197

.

3






 Pyb

Pu

)
.

75.21(
640

Pyb

Pu

fy
p




.55.36)0419.075.21(
240

640
p

55.3657.24  p
tw

h
 …..……………………………...………………Satisfied

Mp
LpLr

LpLb
MrMpMpCbMn 











 )(

1735.9 ≤ Mp

1735.9 >Mp =477.6 KN.m

Since Mn cannot exceed Mp, Mn = Mp for this analysis.

KN

r

KL
AgE

Pe 1.1529
)9.171(

218001021

)(
2

2

52

2

2










Pu = 197.64 KN.

15.1

1.1529

64.197
1

1

2
1

1
2 







Pe

Pu
B

Check LRFD formula:-

Mux = MLt × B2 = Mu×B2

= 319.29 ×1.148 =366.5 KN.m

0.1
..2















bmny

Muy

Mnxb

Mux

Pnc

Pu





95

 0.1947.0
6.4779.0

5.366

6.10462

64.197










0.947< 1.0

So it is satisfied and HEB-450 is used

Table (4-5): Design of columns.

Length of

column (m)
Pu (KN) Mu (KN.m) Mp (KN.m)

Selected

Profile

C.1 12.6 197.64 263.16 477.6 HEB-450

C.2 10.7 1080 273.69 1368 HEB-600

C.3 9.8 578 290.16 1029.6 HEB-500

C.4 12.16 6.0 75.18 _____ IPE-330

Note: For more about design of columns "C2-C4" see Appendix 7.1.

4.11 - Design of mat slab: -

According to figure (4-31) the required thickness and reinforcement ratio for mat

slab subjected by forklift wheel loads 20KN.

Select h=20cm        Where h= thickness of slab.

No reinforcement against shrinkage and temperature is required (see figure (4-31)).

So: Mat slab is reinforced with As min, according to ACI

Where:    As min=ρmin ×b×d

ρmin=0.0018

d=h-c = 20 cm – 3 cm =17 cm

b=100 cm



96

As req. = As min = 0.0018×100×17 = 3.06 cm²/m.

Select: both upper and lower reinforcement as Ø8@15cm

And As provided = 3.35cm²/m

Figure (4-30): Reinforcement of mat slab.
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Figure (4-31): Required thickness (h) and Reinforcement Ratio for mat slabs

subjected by forklift wheel loads 20 KN.
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4.12- Design of footings: -

Sample of calculation“Design of footing (F.1): -

Footing (1) carrying column (1) (HEB-450)

A. Design Requirements of soil:

Pt= 582 KN

Mt= 439.6 KN.m

Where:

Pt= total no factored load.

Mt= total no factored moment.

1-Check of tension failure:

- Eccentricity due to dead load (ed):

)46.0
6

8.2

6
(007.0

7.507

4.3
 x

d

d
d

b

P

M
e

- Eccentricity due to dead load & live load (ed+L):

)867.0
3

6.2

3
(85.0

7.507

6.439


bx

Pt

Mt
e ld

2. Limit state of bearing capacity (σ b):

)/300(2.225

12

6.26.2

3.16.439

6.26.2

7.507. 2
3

mKN
I

cM

bb

p
b

yx

t
b 





























 

Limit state of bearing capacity is satisfied.
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3. Check of sliding failure:

OK
Ht

p

KNp

KNHt

t

t

5.135.4
7.46

8.203

1.2037.5074.0

7.46









Limit state of sliding is satisfied.

B. Design requirements of concrete:

1. Design of bending moment:

Pu= 515.4 KN

Mu= 263.16 KN.m

Where:

Pu= total factored load.

Mu= total factored moment.

2
min

2
max

3min
max

/6.13

/166

12

6.26.2

3.12.263

6.26.2

4.515.

mKN

mKN

I

cM

bb

p

b

b

yx

t
b








































82.18
2585.0

400

'85.0





fc

fy
m
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Figure (4-32): maximum stress and dimensions of footing (F.1).

At section (1-1):

Pu = 136.2 KN

Mu = 78.2 KN.m

h=1m              d= 0.96 m

098.0
9401000

10
9.0

16.78

9401000

10
9.0

2

6

2

6

2















Mu

db

Mn
Rn

0035.0min

min
51045.2

400

098.082.182
11

82.18

12
11

1



 






 








 






where

fy

Rnm

m

As req. = dbreq  .3.1 

As req. = 3 cm²/m

Select Ø16@50 cm As provided = 4.02 cm²/m
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2. Design of shear:

)/17.136(8.665

/8.665940100025
6

1
85.0'

6

1
85.0.

.

mKNv

mKNdbfcv

vv

wc

uc











No shear reinforcement required.

3. Design of punching:

mbybxdbWhere

Kvdbfcv

KNvdbfc
db

v

KNvdbfc
Bc

v

KNVuwhere

vv

o

coc

co
o

s
c

coc

uc

65.024.0205.142'24:

105001050600025
3

1
'

3

1

1903110506000252
1050/6000

30

12

1
'2

/12

1

136501050600025
25.1

2
1

6

1
'

2
1

6

1

4.515:

.

'

2.2.

2.2.

1.1.











 
















 






 








25.14.0/5.0

)..(30




Bc

columnedgs

The minimum value of Vc = 10500 KN

So
KN

vv uc

4.5151050085.0

.




No Punching failure .
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Table (4-6): Design of footings.

FOOTING
bx

(m)

by

(m)

h

(m)

bx '

(m)

by '

(m)

h '

(m)

ASPROV.

(cm ²/m)

F(1) 2.60 2.60 2.00 0.50 0.40 1.00
3.93

10@20cm

F(2) 2.40 2.40 1.50 0.70 0.40 0.75
7.70

14@20cm

F(3) 2.60 2.60 1.50 0.60 0.40 0.75
5.65

12@20cm

F(4) 1.00 1.00 1.00 ____ ____ ____
2.52

8@20cm

Note: For more about design of footings "F2-F4" see Appendix 7.2.
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 Design of concrete fire wall (W.3)
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 Design of L beams (B.4 & B.5)

 Design of cantilever slab (S.4)

 Design of solid slabs

 Design of concrete wall (W.1)

 Design of footings

 Design of Stair (St.1)
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CHAPTER 5

STRUCTURAL ANALYSIS OF ADMINSTRATIVE

BUILDING

5.1 - Introduction:

Usually in this chapter all of structural members are reinforced concrete members

(solid slab, beams, walls, stairs, mat slabs, and footings). So the over load factor of

this part will not be mixed over load factor as the previous part (industrial building),

since the load combinations that used in this part are: -

1. U = 1.4D+1.7L.

2. U = 0.75(1.4D+1.7L+1.7W).

3. U = 0.9D+1.3W.

This load combinations will be used in all members unless that in the design of steel

rafter.

5.2 - Design of concrete fire wall (W.3): -

When the industrial building is not existing there are tow case of design: -

A. Compression force due to wind load.

B. Tension force due to wind load.

Note: The dead load of wall will be neglected
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5.2.1- Design of concrete wall due to: -

- Compression pressure of wind load: -

1. system and load: -

Figure (5-1): System and loads of concrete wall when Compression

Force due wind load

2. Design of bending moment: -

A-Material properties:

Fy= 400 Mpa              fc' = 25 Mpa

B-Assume the thickness (h) of wall is equal 30cm.

C- Design of bending moment:

Mu = 5.12 KN.m ρ max = 0.0203

Assume Concrete cover C = 3 cm
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Cm
barD

chd 26
2

2
330

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .69.5
9.0

12.5





084.0
2601000

1069.5
2

6

2






bd

Mn
Rnreq

004.0
400

084.0
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As req = ρ req ×b×d = 0.004×100×26 = 10.4 cm²/m

Select 14 @ 12.5 cm Ast provided = 12.32 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 12.32=2.46 cm²

Select 10 @ 25 cm Ast provided = 3.14 cm²/m

Ρ min = 0.0018 for shrinkage and temperature

So the horizontal reinforcement = 0.0018×30×100=5.4 cm2.

3. Design of shear: -

Vu= 3.487 KN

Vu at ( d
a


2
) = 3.23 KN (by interpolation)   (a= width of beam)

KNdbcfVc 5.162100026025
6

1
85.0

6

1
85.0 

Φ Vc = 162.5>3.23 so the limitation is satisfied

No shear reinforcement is required
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4. Limitation of deflection: -

∆max due to ACI code equations = 0.9 mm.

∆max = 0.9 < mm
l

6.23
360

105.8

360

3






Limitation of deflection is satisfied

5.2.2- Design of concrete wall due to: -

- Tension pressure of wind load: -

1. system and load: -

Figure (5-2): System and loads of concrete wall when Tension force

Due to wind load.
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1. Design of bending moment: -

A-Material properties:

Fy= 400 Mpa              fc' = 25 Mpa

B-Assume the thickness (h) of wall is equal 30cm.

C- Design of bending moment:

Mu = 3 KN.m ρ max = 0.0203

Assume Concrete cover C = 3 cm

Cm
barD

chd 26
2

2
330

2

)(


82.18
2585.0

400

85.0







cf

fy
m

mKN
Mu

Mn .33.3
9.0

3





0493.0
2601000

1033.3
2

6

2






bd

Mn
Rnreq

000123.0
400

0493.0
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req=0.000123 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req =  ρ req ×b×d = 0.000123×26×100 = 0.3198 cm²/m

As needed = 1.3× ρ req ×b×d = 0.3198×1.3 = 0.415 cm²/m

Select 8 @ 25 cm Ast provided = 2.01 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 2.01=0.402 cm²

Select 8 @ 25 cm Ast provided = 2.01 cm²/m

Ρ min = 0.0018 for shrinkage and temperature

So the horizontal reinforcement = 0.0018×30×100=5.4 cm2.
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2. Design of shear: -

Vu= 2.1 KN

KNdbcfVc 5.162100026025
6

1
85.0

6

1
85.0 

Φ Vc = 162.5>2.1 so the limitation is satisfied

No shear reinforcement is required

5.3- Design of steel rafter (R.1): -

1. System and loads: -

A. System

Figure (5-3): system of loads for rafter (R.1).
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B. Loads

1. Dead Loads:-

Dead load of rafter D = 0.3 KN/m.

Dead load of glass D = 25×0.02×1=0.5 KN/m.

Dt= 0.8 KN/m.

2. Snow load = 1×1 = 1 KN/m.

3. Wind load = -0.6×0.8×6 = -0.48 KN/m.

Tension force from wall = support reactions = 4.19 KN.

Compression force from wall = support reaction = 6.21 KN.

2. Design of steel rafter as a beam: -

 Load combination

- I: 1.4 D.

- II: 1.2 D + 1.6 S.

- III: 0.9 D – 1.3 W.

 Moment and shear diagram: -

Figure (5-4): Shear and Moment Diagrams
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3.Rafter Strength: -

Select (2U-100)

Local plate buckling Q=1.0

.1.16
240

250250
88.5

5.82

100





fy
r

tf

b
f 

8.42
240

663
23.5

12

64
 r

w

h
w 

Kx = 2.0 Ky = 1.0

2. a. Buckling about X-axis Kx = 2.0

9.130
9.10

10012.52.





rx

LxKx

2. b. Buckling about Y-axis Ky = 1.0

15.174
5.3

10012.51.





ry

LyKy ………………....…………CONTROL

λc = 1.64 (1)

λc = 1.96  194.0
.



fy

fcrc

 Φc×fcr = 0.19 ×240= 46.58 Mpa.

Φc×Pn = (45.58) (2×13.5) ×100 = 125.8 > Pu = 6.21KN……….………………OK

2.005.0
8.125

21.6

.


 Pnc

Pu …………………………………………….…....Satisfied

- Mp = Fy× Zx = 240×2×24.5×103 =11.76 KN.m

- Mr = (Fy - Fr) Sx = (240-68.95)×41.2×103×2 =14.1 KN.m

Lb = 5.12 m.

.495.1
8.34

27.14300
mLp 




 
2)(211

1.
FrFyX

FrFy

Xry
Lr 



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Where:-

 2
1

EGJA

Sx
X





2)(

4
2

Gj

Sx

Iy

Cw
X 

Using for (2U-100)

 Sx =82.4×103 mm².

 E = 210000 Mpa.

 G = 81000 Mpa.

 .1064.93
3

.2 6
33





htwtfb

J

 A = 2700 mm².

 9
23

109652.2
24

.


hbtf
Cw

 Fr = 68.9 Mpa.

 X1 = 5590.8 Mpa.

 X2 = 4.77×10-6 Mpa.

  
2)(211

1.
FrFyX

FrFy

Xry
Lr 




  mLr 81.13)9.68240(1077.411
9.68240

8.559079.42 26 



 

Lr = 13.81 m

LP < Lb < Lr

1.495< 5.12 < 13.81

1.16)88.5
2

( 
tf

bf ………..…………………………………………………...…OK

.125.00213.0
13502409.0

1021.6

.

3






 Pyb

Pu
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)
.

75.21(
640

Pyb

Pu

fy
p




.89.38)0213.075.21(
240

640
p

89.3833.5  p
tw

h
w  …..……………………………...………………Satisfied

Mp
LpLr

LpLb
MrMpMpCbMn 











 )(

14.19 ≤ Mp

14.19 >Mp =11.6 KN.m

Since Mn cannot exceed Mp, Mn = Mp for this analysis.

KN

r

KL
AgE

Pe 51.184
)15.174(

27001021

)(
2

2

42

2

2










Pu = 6.21 KN.

035.1

5.184

21.6
1

1

2
1

1
2 







Pe

Pu
B

4.Check LRFD formula:-

Mux = MLt × B2 = Mu×B2

= 3.4 ×1.035 =8.69 KN.m

0.1
..2















bmny

Muy

Mnxb

Mux

Pnc

Pu



 0.1845.0
76.119.0

69.8

8.1252

21.6










0.845< 1.0

So it is satisfied and (2 U-100) is used

Note: For more about design of bolts & welding, see Appendix 7.3/7.4.
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5.4- Design of L beams (B.4 & B.5):

5.4.1- Design of L beam (B.4): -

A. System and load:

Figure (5-5): System and loads of solid slab (B.4).

B. Shear and moment Diagrams:

Figure (5-6): Shear and Moment Diagrams
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C. Design of L Beam (B.4): -

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Assume the thickness (h) of (B.4) is equal 1.5m.

3- Design of beam at mid span (AB & CD):

Mu = 95.01 KN.m ρ max = 0.0203

Assume Concrete cover C = 5m

Cm
barD

chd 144
2

2
5150

2
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

82.18
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
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
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9.0

01.95





Mu
Mn =105.57 KN.m

17.0
1440300
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2

6

2







bd

Mn
Rnreq

00043.0
400

17.0
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req=0.00043 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req =  ρ req ×b×d = 0.00043×30×144 = 1.8576 cm²

As needed = 1.3× ρ req ×b×d = 1.8576×1.3 = 2.41 cm²

Select 3Ø12 As provided = 3.39 cm2
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4- Design of beam above support (B & C): -

Mu = 89.17 KN.m ρ max = 0.0203

Assume Concrete cover C = 5m

Cm
barD

chd 144
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
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






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fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req=0.00041 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req =  ρ req ×b×d = 0.00041×30×144 = 1.771 cm²

As needed = 1.3× ρ req ×b×d = 1.77×1.3 = 2.3 cm²

Select 3Ø12 As provided = 3.39 cm2

5- Design of L Beam (B.4) to resist rafter moment: -

A- Compression forces

Mu = 7 KN.m ρ max = 0.0203

Assume Concrete cover C = 2m

Cm
barD

chd 22
2

2
225

2

)(




116

82.18
2585.0

400

85.0







cf

fy
m

9.0

7





Mu
Mn =7.77 KN.m

16.0
2201000

1077.7
2

6

2







bd

Mn
Rnreq

000404.0
400

16.0
82.18211

82.18

1
211

1


















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Rn
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m
req

0035.0
400

4.14.1
min 

fy


ρ req=0.00041 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req = ρ req ×b×d = 0.000404×22×100 = 0.888 cm²/m

As needed = 1.3× ρ req ×b×d = 0.888×1.3 = 1.15 cm²/m

Select 210 @ 25 cm Ast provided = 6.28 cm²/m

B- Tension forces

Mu = 4.73 KN.m ρ max = 0.0203

Assume Concrete cover C = 2m
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00024.0
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Rn
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m
req
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400

4.14.1
min 

fy


ρ req=0.00024 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req = ρ req ×b×d = 0.000404×22×100 = 0.528 cm²/m

As needed = 1.3× ρ req ×b×d = 0.528×1.3 = 0.686 cm²/m

Select 10 @ 25 cm Ast provided = 3.14 cm²/m

6- Design of shear:

Vu=78.4 KN

Vu at ( d
a


2
) = 55 KN (by interpolation)   (a= width of beam)

Φ× 144030025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =306 >55 so the limitation is satisfied

No shear reinforcement is required so select min shear reinforcement

Select Ø8@20cm

7- Design requirement of deflection of (B.4): -

∆max (live load) ≤ L / 360.

∆max = (7.8 × 1000) / 360 = 21.67 mm.

 )1(1.0
48

5 2

MrMMf
EI

l


.

  mm33.0)1093.87(1.0106.93
1044.8102148

78005 66
103

2







∆ = 0.33 mm
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∆ = 0.33 mm < ∆ max = 21.67 mm. ………………The Condition is  satisfied

5.4.2- Design of L beam (B.5):

A. System and loads:

Figure (5-7): System and loads of beam .

B. Shear and moment Diagrams:
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Figure (5-8): Shear and Moment Diagrams

C. Design of L Beam (B.5): -

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Assume the thickness (h) of (B.5) is equal 1.25m.

3- Design of beam at mid span (AB & BC):

Mu = 11.41 KN.m ρ max = 0.0203

Assume Concrete cover C = 5m
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m

m
req

0035.0
400

4.14.1
min 

fy


ρ req=0.00090 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req =  ρ req ×b×d = 0.00009×25×119 = 2.6775 cm²/m

As needed = 1.3× ρ req ×b×d = 2.6775×1.3 = 3.5 cm²/m

Select 3Ø14 As provided = 4.62 cm2

4- Design of beam above supports (B & C): -

Mu = 104.66 KN.m ρ max = 0.0203

Assume Concrete cover C = 5m
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Cm
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4.14.1
min 

fy


ρ req=0.000826 < ρ min=0.0035

ρ req > ρ min so it's not satisfied

As req =  ρ req ×b×d = 0.000826×25×119 = 2.453 cm²/m

As needed = 1.3× ρ req ×b×d = 2.456×1.3 = 3.19 cm²/m

Select 3Ø14 As provided = 4.62 cm2

5- Design of shear:

Vu=95.01 KN

Vu at ( d
a


2
) = 66.96 KN (by interpolation)   (a= width of beam)

Φ× 119025025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =210.7 >66.96 so the limitation is satisfied

No shear reinforcement is required so select min shear reinforcement

Select Ø8@20cm
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6- Design requirement of deflection of (B.5): -

∆max (live load) ≤ L / 360.

∆max = (7.8 × 1000) / 360 = 21.67 mm.
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∆ = 0.76 mm

∆ = 0.76 mm < ∆ max = 21.67 mm. ………………The Condition is  satisfied

5.5- Design of cantilever slab (S.4):

1. System and loads:

Figure (5-9): System and loads of cantilever slab (S.4).



122

B. Dead Load

Dead load of cantilever = 0.12×25=3 KN/m.

Dead load of plaster = 0.03×22 = 0.66 KN/m.

Total dead load = 3.66KN/m.

C. Live load = 1.5 KN/m.

D. Snow load =1KN/m.

2. Design of cantilever slab (S.4): -

1-material properties:

Fy= 400 Mpa              fc' = 25 Mpa

2 Assume the thickness (h) cantilever slab is equal 12cm

3- Design of bending moment:

Mu = 3.84 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm
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As req =  ρ req ×b×d = 0.0013×100×9 = 1.17 cm²/m

But As needed =As req×1.3 = 1.3×1.17 = 1.521 cm²/m

Select 8 @ 25 cm Ast provided = 2.01 cm²/m

3- Design of shear: -

Vu= 7.67 KN

Vu at ( d
a


2
) = 6.02 KN (by interpolation)   (a= width of beam)

75.6310009025
6

1
85.0

6

1
85.0  dbcfVc

Φ Vc = 63.5>6.02 so the limitation is satisfied

No shear reinforcement is required

4- Design requirement of deflection: -

∆max (live load) ≤ L / 360.

∆max = (1 × 1000) / 360 = 2.8 mm.

5

33

1044.12100015

10005.1

15 




EI

wl
=3.307×10-5 mm < ∆ max = 20.83 mm.
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5.6- Design of solid slabs:

The critical sections for positive and negative moment in the spans of a

continuous girder are located at or near med span and at the supports. These

sections must be designed for the maximum moments created by both dead and

live loads. Analysis for the dead load, which is fixed in position and magnitude,

needs on discussion; however, the maximum values of positive and negative

moment at critical sections in a given span are produced by different live load

patterns.

5.6.1 - Design of solid slab (S.3):

A. System and loads:

Figure (5-10): System and loads of solid slab S.3.
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B. Shear and moment Diagrams:

Figure (5-11): Shear and Moment Diagrams

A-span (1) & (3):-

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Assume the thickness (h) of solid slab (S3) is equal 25cm.

3- Design of bending moment:

Mu = 67.99 KN.m             ρ max = 0.0203

Assume Concrete cover C = 2 cm
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ρ req > ρ min so it's satisfied

As req =  ρ req ×b×d = 0.0044×100×22 = 8.925 cm²/m

Select 12 @ 10 cm Ast provided = 11.31 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 11.31=2.26 cm²

Select 10 @ 20 cm Ast provided = 3.93 cm²/m

4- Design of shear:

Vu=56.85 KN

Vu at ( d
a


2
) = 53.06 KN (by interpolation)   (a= width of beam)

Φ× 10022025
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85.0  dbcfVc

Φ× Vc =155.83 >53.06 so the limitation is satisfied

No shear reinforcement is required

5- Design requirement of deflection (of solid slab S.3): -

∆max (live load) ≤ L / 360.

∆max = (7.8 × 1000) / 360 = 21.67 mm.
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∆ = 14.29 mm

∆ = 14.29 mm < ∆ max = 21.67 mm. ……………The Condition is  satisfied



127

6-Design of bending moment at support B&C: -

Mu = 63.14 KN.m             ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD
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ρ req > ρ min so it's satisfied

As req =  ρ req ×b×d = 0.000375×100×22 = 8.26 cm²/m

Select 14 @15 cm Ast provided = 10.26 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 10.26=2.10 cm²

Select 8 @ 20 cm Ast provided = 2.51 cm²/m
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5.6.2 - Design of solid slab (S.5):

A. System and loads:

Figure (5-12): System and loads of solid slab S.5.

B. Shear and moment Diagrams:

Figure (5-13): Shear and Moment Diagrams
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c. Design values:

Table (5-1): Design of Solid Slab (S.3).

S.3

Sup.(A) Mid Span (1) Sup. (B) Mid Span (2) Sup. (C) Mid Span (3) Sup. (D)

Mu (KN.m) 0.0 67.99 63.14 0.0 63.14 67.99 0.0

Req. Rn (Mpa) 0.0 1.560 1.45 0.0 1.45 1.560 0.0

Minimum
(ρ) 0.0 0.0035 0.0035 0.0 0.0035 0.0035 0.0

Req. (ρ) 0.0 0.0040 0.00375 0.0 0.00375 0.0040 0.0

Req. AsL (cm²) 0.0 8.925 8.260 0.0 8.260 8.925 0.0

AsL Provided (cm²)
20@25cm

As = 12.56

12@10cm

As = 11.31

14@15cm

As = 10.26

12@10cm

As = 11.31

14@15cm

As = 10.26

12@10cm

As = 11.31

20@25cm

As = 12.56

Ast  (cm²)
10@25cm

As = 3.14

10@20cm

As = 3.93

8@20cm

As =2.51

10@20cm

As = 3.93

8@20cm

As =2.51

10@20cm

As = 3.93

10@25cm

As = 3.14
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A- Design of solid slab (4):-

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Assume the thickness (h) of solid slab (S.5) is equal 25cm.

3- Design of bending moment:

Mu = 129.21 KN.m             ρ max = 0.0203

Assume Concrete cover C = 2 cm

Cm
barD

chd 22
2

2
225

2

)(
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82.18
2585.0

400

85.0
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

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
cf
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m

9.0

21.129





Mu
Mn =143.56 KN.m

966.2
22.01

56.143
22
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

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Mn
Rnreq

0080.0
400

966.2
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As req =  ρ req ×b×d = 0.0080×100×22 = 17.645 cm²/m

Select 14 @ 8 cm Ast provided = 19.24 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 19.24=3.85 cm²

Select 10 @15cm Ast provided = 5.24 cm²/m

4- Design of shear:

Vu=66.26 KN

Vu at ( d
a


2
) = 60.82 KN (by interpolation)   (a= width of beam)



131

Φ× 100022025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =155.83 >60.82 so the limitation is satisfied

No shear reinforcement is required

5- Design of deflection: -

mm
l

liveload 66.21
360

1008.7

360
)max( 




590.4
10121000384

)108.7(25

384

5
9

434







EI

wl

4.59mm < 21.66mm

Table (5-2): Design of Solid Slab (S.5).

S.5

Sup.(A) Mid Span (1) Sup. (B)

Mu (KN.m) 0.0 129.21 0.0

Req. Rn (Mpa) 0.0 2.966 0.0

Minimum
(ρ) 0.0 0.0035 0.0

Req. (ρ) 0.0 0.0080 0.0

Req. AsL (cm²) 0.0 17.645 0.0

AsL Provided (cm²)
20@25cm

As = 12.56

14@8cm

As = 19.24

20@25cm

As = 12.56

Ast  (cm²)
10@25cm

As = 3.14

10@15cm

As = 5.24

10@25cm

As = 3.14
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5.6.3 - Design of solid slab (S.6):

A. System and loads:

Figure (5-14): System and loads of solid slab S.6.

B. Shear and moment Diagrams:

Figure (5-15): Shear and Moment Diagrams
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A-span (1) & (3):-

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Assume the thickness (h) of solid slab (S.6) is equal 25cm.

3- Design of bending moment:

Mu = 92.39 KN.m             ρ max = 0.0203

Assume Concrete cover C = 2 cm

Cm
barD

chd 22
2

2
225

2

)(


82.18
2585.0

400

85.0







cf

fy
m

9.0

39.92





Mu
Mn =102.65 KN.m

560.1
22.01

54.75
22





bd

Mn
Rnreq

0056.0
400

102.65
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As req = ρ req ×b×d = 0.0056×100×22 = 12.31 cm²/m

Select 14 @ 12.5 cm Ast provided = 12.32cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 12.32=2.45 cm²

Select 8 @ 20cm Ast provided = 2.51 cm²/m
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4- Design of shear:

Vu=77.25 KN

Vu at ( d
a


2
) = 72.122 KN (by interpolation)   (a= width of beam)

Φ× 100022025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =155.83 >72.122 so the limitation is satisfied

No shear reinforcement is required

5- Design requirement of deflection (of solid slab S.6): -

∆max (live load) ≤ L / 360.

∆max = (7.8 × 1000) / 360 = 21.67 mm.

 )1(1.0
48

5 2

MrMMf
EI

l
 .

  mm45.19)1075.85(1.01039.92
1013.0102148

78005 66
103

2







∆ = 19.45 mm

∆ = 19.45 mm < ∆ max = 21.67 mm………………The Condition is  satisfied

6-Design of bending moment at support B&C: -

Mu = 85.75 KN.m             ρ max = 0.0203

Assume Concrete cover C = 2 cm

So Cm
barD

chd 22
2

2
225

2

)(


82.18
2585.0

400

85.0



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
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m

mKN
Mu

Mn .27.95
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75.85




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22.01

27.95
22





bd

Mn
Rnreq
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00517.0
400

96.1
82.18211

82.18
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1
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

















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's satisfied

As req =  ρ req ×b×d = 0.00517×100×22 = 11.38 cm²/m

Select 14 @ 12cm Ast provided = 12.83 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 12.83=2.57 cm²

Select 8 @ 15 cm Ast provided = 3.35cm²/m

5.7 - Design of concrete wall (W.1):

A. System and loads:

-System:

Figure (5-16): System and loads of concrete wall W.1.
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Table (5.3): Design of Solid Slab (S.6).

S.6

Sup.(A) Mid Span (1) Sup. (B) Mid Span (2) Sup. (C) Mid Span (3) Sup. (D)

Mu (KN.m) 0.0 92.39 85.75 0.0 85.75 92.39 0.0

Req. Rn (Mpa) 0.0 1.560 1.96 0.0 1.96 1.560 0.0

Minimum
(ρ) 0.0 0.0035 0.0035 0.0 0.0035 0.0035 0.0

Req. (ρ) 0.0 0.0056 0.00517 0.0 0.00517 0.0056 0.0

Req. AsL (cm²) 0.0 12.31 11.38 0.0 11.38 12.31 0.0

AsL Provided (cm²)
20@25cm

As = 12.56

14@12.5cm

As = 12.32

14@12cm

As = 12.83

14@12.5cm

As = 12.32

14@12cm

As = 12.83

14@12.5cm

As = 12.32

20@25cm

As = 12.56

Ast  (cm²)
10@25cm

As = 3.14

8@20cm

As = 2.51

8@15cm

As =3.35

8@20cm

As = 2.51

8@15cm

As =3.35

8@20cm

As = 2.51

10@25cm

As = 3.14
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-Loads:

qw (factored) = 1.42 KN/m.

B. Shear and moment Diagrams:

Vu = 8.55 KN

Mu = 25.65 KN.m

C- Design of bending moment:-

1-material properties:

fy= 400 Mpa              fc' = 25 Mpa

2-Assume the thickness (h) of wall is equal 25 cm: -

3- Design of bending moment:

Mu = 25.65 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm
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
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






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fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req < ρ min so it's not satisfied

As req =  ρ req ×b×d = 0.0015×100×22 = 4.26 cm²/m

Select 10 @ 25 cm Ast provided = 3.14 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 3.14=0.628 cm²
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Select 8 @ 25 cm Ast provided = 2.01 cm²/m

4- Design of shear:

Vu at ( d
a


2
) =8.06  KN (by interpolation)   (a= width of beam)

Φ× 100022025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =155.83 >8.06 KN so the limitation is satisfied

No shear reinforcement is required

5- Design of deflection: -

mm
l

liveload 67.16
360

6000

360
)max( 

mm
EI

wl 3
6

33

101.1
103.8872100015

)6000(42.1

15







 Max. < 21.66mm………………………………..……………….ok

 It's possible that the wind load at this wall is come from the other side, so

these values of steel reinforcement for this wall, will be in both sides,

(double steel).
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5.8 - Design of Stair (St.1):

1. System and loads:

A. System:

Figure (5-17): System of stair (St.1)

B. Loads:

1. Dead loads:

D.L of slab= mKN /15.5
1.29cos

118.025




D.L of plaster = mKN /76.0
1.29cos

103.022




D.L of stair= mKN /19.2
2

117.025



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D.L of horizontal mortar= mKN /66.003.022 

D.L of vertical mortar= mKN /38.0
30

5.17
03.022 

D.L of horizontal tile = mKN /73.0
30

33
03.022 

D.L of vertical tile = mKN /38.0
30

17
03.022 

_____________________________________________

Total D.L = 10.26 KN/m

2. Live loads: L.L = 5 KN/m

2. Shear and moment diagrams:
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Figure (5-18): shear diagram of stair (St.1)

Figure (5-19): Moment diagram of stair (St.1).

5.8.1 -Design of stairs:-

1. Material properties:

fy= 400 Mpa              fc' = 25 Mpa

2. Limitation of deflection:

h> L/20 = 300/20 =15 cm

Select h = 18 cm

3. Design of bending moment:

Mu = 16.1 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

Cm
barD
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)(

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
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fy

Rn
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m
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0035.0
400

4.14.1
min 

fy


ρ req < ρ min so it's satisfied

As req = ρ req ×b×d = 0.0020×100×15 = 3.04 cm²/m

As needed = 1.3×ρ req ×b×d = 1.3×0.0020×100×15 = 3.96 cm²/m

Select 12 @ 25 cm Ast provided = 4.52 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 4.52=0.9 cm²/m

Select 8 @25cm Ast provided = 2.01 cm²/m

4. Design of shear:

Vu=24.6 KN

Vu at ( d
a


2
) = 24 KN (by interpolation)

Φ× 100015025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =93.7 >24 so the limitation is satisfied

No shear reinforcement is required
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5.8.2 - Design of stairs slab: -

1. Design of bending moment:

Mu = 4.08 KN.m ρ max = 0.0203

Assume Concrete cover C = 2 cm

Cmd 15
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








fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req < ρ min so it's not satisfied

As req = ρ req ×b×d = 0.0005×100×15 = 0.78 cm²/m

As needed = 1.3×ρ req ×b×d = 1.3×0.0005×100×15 = 1.01 cm²/m

Select 8 @ 20 cm Ast provided = 2.52 cm²/m

Ast ≥ 0.2 × Asl Ast = 0.2 × 2.52=0.5 cm²/m

Select 8 @25cm Ast provided = 2.01 cm²/m

2. Design of shear:

Vu=12.4 KN

Vu at ( d
a


2
) = 11.6 KN (by interpolation)
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Φ× 100015025
6

1
85.0

6

1
85.0  dbcfVc

Φ× Vc =93.7 >11.4 so the limitation is satisfied

5.9 - Design of footings:

5.9.1- Sample of calculation" Design of footing (F.5): -

Footing (5) is strip footing, carrying concrete wall (w.1)

A. Design Requirements of soil:

Pt= 142.6 KN

Where:

Pt= total no factored load.

1-Check of tension failure:

- Eccentricity due to dead load (ed):

6
0 x

d

d
d

b

P

M
e 

- Eccentricity due to dead load & live load (ed+L):

3
0

bx
e ld 

2. Limit state of bearing capacity (σ b):

)/300(7.237
00.160.0

6.142. 2mKN
I

cM

bb

p
b

yx

t
b 



 





 
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Limit state of bearing capacity is satisfied.

3. Check of sliding failure:

Horizontal forces will be neglected because that the foundation is supported with

mat slab.

B. Design requirements of concrete:

1. Design of bending moment:

Pu= 199.6 KN

Where:

Pu= total factored load.

2

min
max

/7.332

00.160.0

6.199.
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Figure (5-20): maximum stress and dimensions of footing (F.5).

At section (1-1):

Pu = 59.9 KN

Mu = 5.4 KN.m

h=60 cm              d= 0.54 m

0343.0
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


 







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fy

Rnm

m

As req. =
25

. 73.160541051.83.13.1 cmdbreq  

As req. = 1.73 cm²

Select Ø10@25 As provided = 3.14 cm²/m

2. Design of shear:

)/9.59(8.665

/5.382540100025
6

1
85.0'

6

1
85.0.

.

mKNVu

mKNdbfcv

vv

wc

uc











No shear reinforcement required.
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5.9.2- Sample of calculation" Design of fire wall footing (F.7): -

Footing (7) is strip footing, carrying

concrete wall (w.3)

B. Design Requirements of soil:

Pt= 91.5 KN

Where:

Pt= total no factored load.

1-Check of tension failure:

- Eccentricity due to dead load (ed):

6
0 x

d

d
d

b

P

M
e 

- Eccentricity due to dead load & live load (ed+L):

3
0

bx
e ld 

2. Limit state of bearing capacity (σ b):

)/300(5.152
00.160.0

5.91. 2mKN
I

cM

bb

p
b

yx

t
b 



 





 

Limit state of bearing capacity is satisfied.

3. Check of sliding failure:
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Horizontal forces will be neglected because that the foundation is supported with

mat slab.

B. Design requirements of concrete:

1. Design of bending moment:

Pu= 128.1 KN

Where:

Pu= total factored load.

2

min
max
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















82.18
2585.0

400

'85.0





fc

fy
m

Figure (5-21): maximum stress and dimensions of footing (F.6).

At section (1-1):
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Pu = 32 KN

Mu = 2.4 KN.m

h=60 cm              d= 0.54 m

0152.0
540800

10
9.0

4.2

540800

10
9.0

2

6

2

6

2















Mu

db

Mn
Rn

0035.0min

min
51045.4

400

0152.082.182
11

82.18

12
11

1



 






 








 






where

fy

Rnm

m

As req. =
25

. 3.160541045.43.13.1 cmdbreq  

As req. = 1.3 cm²

Select Ø8@25 cm As provided = 2.01 cm²/m

2. Design of shear:

)/0.32(5.382

/5.382540100025
6

1
85.0'

6

1
85.0.

.

mKNVu

mKNdbfcv

vv

wc

uc











No shear reinforcement required.

3. Design of punching:

30.0100/3.0

)..(30




Bc

columnedgs

The minimum value of Vc = 681.7 KN

So
KN

vv uc

1.1287.68185.0

.




Punching failure is not occurred.
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4. Design of binding moment reinforcement: -

Mu = 25.56 KN.m ρ max = 0.0244

Assume Concrete cover C = 2 cm

Cm
barD

chd 17
2

2
220

2

)(


82.18
2585.0

400

85.0







cf

fy
m

9.0

56.25





Mu
Mn =28.5 KN.m

986.0
17.01

5.28
22





bd

Mn
Rnreq

00252.0
400

0.986
82.18211

82.18

1
211

1



















fy

Rn
m

m
req

0035.0
400

4.14.1
min 

fy


ρ req > ρ min so it's not satisfied

As req = ρ req ×b×d = 0.00252×100×17 = 4.284 cm²/m

As needed = 1.3×ρ req ×b×d = 0.00252×100×17 = 5.57cm²/m

Select Ø 8@ 8 cm As provided = 6.28 cm²/m
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Table (5-4): Design of footings.

FOOTING
bx

(m)

by

(m)

h

(m)

bx '

(m)

by '

(m)

AS PROVIDE

(cm ²)

F(5) 0.60 8.65 0.60 0.25 8.25
2.01

ø8@25

F(6) 0.60 8.65 0.60 0.20 8.25
3.14

ø10@25

F(7) 0.60 45.60 0.60 0.30 45.60
3.14

ø10@25



Chapter Six:
Conclusion and Recommendation

 Conclusion

 Recommendation
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الفصل السادس

النتائج و التوصیات

-: النتائج)١-٦(

اء   د الانتھ ات      بع ى المخطط الإطلاع عل دءا ب روع ب ي المش ل ف ل العم ة مراح ن كاف م

ائیة    ر الإنش المعماریة المتوفرة و من ثم عمل كامل الحسابات و التصامیم الإنشائیة لكافة العناص

-: في المبنى الصناعي تم التوصل إلى النتائج التالیة

.تم إعادة تنسیق المخططات المعماریة بحیث تصبح ملائمة لعملیة التصمیم الإنشائي-أ

منت          -ب ى الإداري تض ناعي و المبن ع الص ن المجم ل م ائیة لك ة إنش ة تحلیلی ل دراس تم عم

.تحدید الأحمال و تحید النظام الإنشائي المستخدم

ائ  -ت میم الإنش ائیة    تم إنھاء كافة الحسابات اللازمة في عملیة التص ر الإنش ع العناص ي لجمی

.سواء الفولاذیة أم الخرسانیة

ل و  ةتم عمل كافة المخططات التنفیذی-ث للعناصر الإنشائیة في المبنى الصناعي بشكل كام

.قابل للتنفیذ
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-: التوصیات)٢-٦(

روع  ذا المش ة لھ ائیة التنفیذی ات الإنش تكمال المخطط د اس ب ، بع یات الواج ض التوص ك بع ھنال

-: ن الاعتبار من أھمھا ما یليأخذھا بعی

ن    یتم تنفیذ المبنى وفقا للتصامیم و.١ أدنى حد ممك المخططات التي تم إلحاقھا بالمشروع ب

ى    ة إل من التغیرات و ذلك نظرا لكون معظم العناصر الإنشائیة ھي فولاذیة و ھي بحاج

آت       ن المنش ا م ن غیرھ ة م ن الدق ة      ، درجة أعلى م ر الفولاذی ع العناص ب جمی ث تطل حی

.بمقاس ملم

د  اختیار موقع البناء أن یكون المبنى بعیددیوصى عن.٢ ا عن المناطق السكانیة لتلافي ما ق

.بالإضافة إلى مراعاة توفر الخدمات العامة في ھذا الموقع، ینتج عنھ من أضرار بیئیة

ات    .٣ میم الأساس ادة تص في حال تغیرت قیمة قوة تحمل التربة حسب موقع الأرض یتم إع

.لھذا المبنى الصناعي بناء على قیمة قوة تحمل التربة الجدیدة

ى باس.٤ را  یوص ك نظ ائیة و ذل ر الإنش ت للعناص الات التثبی م ح ي معظ ي ف تخدام البراغ

ا     ھذا بالإضا، لتكلفة العمالة لعملیة اللحام ي بلادن ا ف عوبة إتقانھ ى ص ي بعض   ، فة إل إلا ف

. الحالات الواجب فیھا استخدام اللحام في عملیة التثبیت نظرا لأنھ أكثر ملائمة

نفس ال أ.٥ ى ب دخل المبن ذ م تم تنفی ك  ن ی ات و ذل ي المخطط حة ف عیة الموض ة وض لملائم

ن      ، أالنوع من المنشاالمتطلبات المعماریة لھذ واد م ل الم غ و تحمی ة تفری ھیل عملی و تس

. و إلى ھذا المبنى

ي       .٦ وق المحل ي الس وفرة ف اطع مت ذه المق یوصى عند اختیار المقاطع الفولاذیة أن تكون ھ

. بنفس المواصفات و بالأطوال المطلوبة



Appendix (A)

7.1 Design of Column: -

(7.1.1) Design of Column (C.2):

A. System and loads:

1. System:

Figure (1-1): System and loads of column (C.2).



2. Loads combinations for designing a structure of “mixed”construction: -

 Load combination (I): U=1.4DL.

- Pu = 721.62 KN.

- Mu =172.43KN.m

 Load combination (II): U=1.2D+1.6L+0.5S.

- Pu = 1080.4 KN.

- Mu = 273.69KN.m

 Load combination (III): U=1.2D+1.6S+0.5L.

- Pu = 901.58 KN.

- Mu = 180.87KN.m

B. Column Strength: -

Select (HEB-600)

Local plate buckling Q=1.0

.1.16
240

250250
5

302

300





fy
r

tf

b
f 

8.42
240

663
35.31

5.15

486
 r

w

h
w 

Kx = 2.0     Ky = 1.0

2. a. Buckling about X-axis Kx = 2.0

92.84
2.25

1007.102.





rx

LxKx

2. b. Buckling about Y-axis Ky = 1.0

13.151
07.7

1007.101.





ry

LyKy ………………....…………CONTROL

λc = 1.70 (1)

λc = 1.70  258.0
.




fy

fcrc

 Fc×fcr = 240×0.258 =61.92 Mpa.



Φc×Pn = (61.92) (27000) = 1671.9 > Pu =1080 KN………………………………OK

2.0644.0
9.1671

1080

.


 Pnc

Pu ..…………………...……………...………….Satisfied

- Mp = Fy. Zx = (240×5700000) = 1368 KN.m

- Mr = (Fy - Fr) Sx = (240-68.95)×32100000 = 549.23 KN.m

Lb = 10.7 m.

.6.3
8.34

8.70300
mLp 




 
2)(211

1.
FrFyX

FrFy

Xry
Lr 




Where: -


2

1
EGJA

Sx
X




 2)(
4

2
Gj

Sx

Iy

Cw
X 

Using for (HEB-600)

 Sx = 3210000 mm3.

 E = 210000 Mpa.

 G = 81000 Mpa.

 .58000000.5
3

.2 33





htwtfb

J

 A = 27000 mm².

 54.1096
24

. 23


hbtf

Cw

 Fr = 68.9 Mpa.

 X1 = 35033.3 Mpa.

 X2 = 16.35×10-6Mpa.

  
2)(211

1.
FrFyX

FrFy

Xry
Lr 


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  mLr 58.21)9.68240(1035.1611
9.68240

3.350338.70 26 



 

Lr = 21.58 m

Lp < Lb < Lr

3.6 < 10.7 < 21.58

8.10)50
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2
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.125.0185.0
270002409.0
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




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1092 ≤ Mp

1092 >Mp

Since Mn cannot exceed Mp, Mn = Mp for this analysis.
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KL
AgE

Pe 1.2450
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270001021
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2

2

52
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Pu = 1080 KN.
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Pe
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Check LRFD formula: -

Mux = MLt × B2 = Mu×B2

= 273.69 ×1.789 = 490 KN.m

0.1)
.

(
9

8

.





Mnx

Mux

Pnc

Pu



 0.1)
13689.0

490
(

9

8

5.1671907

1080000





0.990< 1.0

So it is satisfied and HEB-600 is used

7.1.2 Design of Column (C.3):

A. System and loads:

1. System:

Figure (1-2): System and loads of column (C.3).



2. Loads combinations for designing a structure of “mixed”construction: -

 Load combination (I): U=1.4DL.

- Pu = 621.726 KN.

- Hu = 0 KN

- Mu = 0.3×2×295.3 = 177.18KN.m

 Load combination (II): U=1.2D+1.6L+0.5S.

- Pu = 997 KN.

- Hu = 0 KN

- Mu = 0.3×2× (253.08+224.96) = 286.8KN.m

 Load combination (III): U=1.2D+1.6S+0.5L.

- Pu = 718.5 KN.

- Hu = 0 KN

- Mu = 0.3×2× (253.08+70.3) = 194KN.m

 Load combination (IV):

U=1.2D+1.6S+0.8W…………………………………..……….CONTROL

- Pu = 578 KN.

- Hu = 0 KN

- Mu = 3×0.8×4×8+1.8×0.8×4.8×8.9+2×253.08×0.3

- Mu = 177.18KN.m

B. Column Strength: -

Select (HEB-500)

Local plate buckling Q=1.0

.1.16
240

250
36.5
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
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λc = 1.52 (1)

λc = 1.52  323.0
.



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 Φc×fcr = 240×0.323 = 77.52 Mpa.

Φc×Pn = (77.52)(23900) = 1852.73 > Pu = 578 KN………………………………OK
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Pu ..…………………………………...………….Satisfied

- Mp = Fy. Zx = (240×42900000) = 1029.6 KN.m

- Mr = (Fy - Fr) Sx = (240-68.95)×2410000 = 412.2 KN.m

Lb = 9.8 m.
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 Sx = 2410000 mm².



 E = 210000 Mpa.

 G = 81000 Mpa.

 .87000000.4
3

.2 33
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
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3270.55 ≤ Mp

3270.55 >Mp =1029.6 KN.m

Since Mn cannot exceed Mp, Mn = Mp for this analysis.

KN

r

KL
AgE

Pe 0.2726
)8.134(

239001021

)(
2

2

52

2

2










Pu = 578 KN .

27.1

07.2726

578
1

1

2
1

1
2 







Pe

Pu
B

Check LRFD formula:-

Mux = MLt × B2 = Mu×B2

= 290.16 ×1.72 = 499 KN.m
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So it is satisfied and HEB-500 is used



7.1.3 Design of Column (C.4):

1- System and load: -

a) System

Figure (1-3): System and loads of column (C.4).

b) Dead Load

Dead load of beam = 0.262 ×12.6 = 3.186 KN.

Total dead load = 3.186 KN.

U = 1.2 D + 0.8 W + 1.6 S

Du=0.8[4.81×4.16+3×8]= 35.21 KN.

2- Design of beam: -

Mu = 75.18 KN.m

Vu = 24.48 KN.m



A. Design of bending moment (select ST-37, fy = 240 Mpa): -

Assume compact section

Mn = Φ Mp ≥ Mu                                  , Mp = fy × Z

Mp = 240 × Zreq. × 0.9 ≥ Mu

3
6

1.348
9.0240

1018.75
CmZreq 






So Zreq. = 348.1 Cm³

Select (HEB-270) with Z= 429 Cm³. > Zreq. =348.1 Cm³.

Check of compact section: -

λfl < λp

p
tf

bf
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
 61.6
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tw

t
w  ………………………………OK

Nominal moment strength: -

Φ fy × Z ≥ Mu

0.9 ×240×4290×10³ = 926.6 KN.m

Φ fy × Z = 926.6 ≥ 75.18 KN.m

B. Design requirement of shear: -

Ф Vn ≥ Vu

Vn = 0.6×fy×Aw

Aw = tw ×d = 219×6.6 = 1445.4 mm²

Vn = 0.6×240×1445.4 = 208.13 KN.

Ф Vn = 0.9×208.13 = 187.3 KN > 24.48 KN.

C. Design requirement of deflection: -

∆max (live load) ≤ L / 360.

∆max = (12.16 × 1000) / 360 = 33.8 mm.
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Select IPE-330 to satisfy.
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
EI

wl
=33.5……………….Not satisfied

∆max (live load) ≤ L / 360.

33.5≤33.8

o.k.

So it is satisfied and IPE-330 is used

7.2 Footing design:

7.2.1 Footing (2):

Footing (2) carrying column (2) (HEB-600)

A. Design Requirements of soil:

Pt= 1134.4 KN

Mt= 165.9 KN.m

Where:

Pt= total no factored load.

Mt= total no factored moment.

1. Check of tension failure:

- Eccentricity due to dead load (ed):
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3. Check of sliding failure:
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B. Design requirements of concrete:

1. Design of bending moment:

Pu= 1324 KN

Mu= 273.7 KN.m

Where:

Pu= total factored load.

Mu= total factored moment.
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Figure (2-1): maximum stress and dimensions of footing (F.2).

At section (1-1):

Pu = 213.1 KN

Mu = 102.4 KN.m

h=0.75m d= 0.69 m
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As req. = dbreq  .3.1 

As req. = 5.38 cm²/m

Select Ø14@20 cm As provided = 7.70 cm²/m



2. Design of shear:
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3. Design of punching:
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7.2.2 Footing (3):

Footing (3) carrying column (C.3, HEB-500)

A. Design Requirements of soil:

Pt= 1017 KN

Mt= 367 KN.m

Where:

Pt= total no factored load.

Mt= total no factored moment.

1-Check of tension failure:

- Eccentricity due to dead load (ed):
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- Eccentricity due to dead load & live load (ed+L):
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3.Check of sliding failure:
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B. Design requirements of concrete:

1. Design of bending moment:

Pu= 863.9 KN

Mu= 290.2 KN.m

Where:

Pu= total factored load.

Mu= total factored moment.
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At section (1-1):

Pu = 174.4 KN

Mu = 95.9 KN.m

h=0.75m              d= 0.69 m



Figure (2-2): maximum stress and dimensions of footing (F.3).
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Select Ø12@20 cm As provided = 5.65 cm²/m

2. Design of shear:
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3.Design of punching:
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7.2.3 Footing (4):

Footing (4) carrying column (4) (IPE-330)

A. Design Requirements of soil:

Pt= 126.4 KN

Mt= 63.28 KN.m

Where:

Pt= total no factored load.

Mt= total no factored moment.



1. Check of tension failure:

- Eccentricity due to dead load (ed):
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3. Check of sliding failure:
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B. Design requirements of concrete:

1. Design of bending moment:

Pu= 151.7 KN

Mu= 50.6 KN.m

Where:

Pu= total factored load.

Mu= total factored moment.
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Figure (2-3): maximum stress and dimensions of footing (F.4)

At section (1-1):

Pu = 57.1 KN

Mu = 22.9 KN.m

h=1.5m              d= 1.46 m
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As req. = dbreq  .3.1 

As req. = 0.6 cm²/m

Select Ø8@20 cm As provided = 2.52cm²/m

2. Design of shear:
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3. Design of punching:

mbybxdbWhere

Kvdbfcv

KNvdbfc
db

v

KNvdbfc
Bc

v

KNVuwhere

vv

o

coc

co
o

s
c

coc

uc

92.316.0233.02735.042'24:

4802735392025
3

1
'

3

1

8.91537353920252
735/3920

30

12

1
'2

/12

1

1.4732735392025
06.2

2
1

6

1
'

2
1

6

1

7.151:

.

'

2.2.

2.2.

1.1.











 
















 






 








25.14.0/5.0

)..(30




Bc

columnedgs

The minimum value of Vc = 4732 KN

So
KN

vv uc

68.151473285.0

.




Punching failure in not occurred.



7.3 Design of bolts:

7.3.1 Design of bolts for Detail (4):

Ru = 17 KN.
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7.3.2 Design of bolts for Detail (5):

Ru = 42.4 KN
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7.3.3 Design of bolts for Detail (6):

Ru = 480.4 KN
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7.3.4 Design of bolts for Detail (8):

Ru = 6.21 KN
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7.4 Design of weld:

Design of weld for Detail (8):

Ru = 10.71 KN
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Table of Most Commonly Used Symbols

A = fillet weld leg dimension; i.e., weld size, in. length (dimension parallel to load)
A = area of the cross-section; area
Ab = gross cross-sectional area of bolt; threaded rod area based on major diameter
Ae = effective net area an of tension member
Ag = gross area subject to tensile yielding.
Ap = gross area subject to shear yield.
Asl = longitudinal steel area.
Ast = transverse steel area.
An = net area; "tensile stress area" through threaded portion of tension rod; net area

through holes on tension member.
Aw = web area; dtw for rolled J-shaped beams; A/H. for plate girders.
Ashear = area of shear reinforcement parallel to flexural tension reinforcement,

for a bracket.
Aw = web area.
B = width; beam width; flange width; dimension of plate perpendicular to load

direction.
bE = effective width of unstiffened compression element effective slab width
bf, bfb = flange width, usually for steel W section; for beam, bfb
B = magnification factor for member in braced frame.
KL/r =slenderness ratio. Separating long and short columns for ASD, compression

force.
C =Cover or spacing dimension, defined as the distance from center of bar being

developed to the nearest concrete surface.
Cb = factor which varies with the moment gradient between bracing points.
Cf = shape factor.
Cw = tensional warping constant; compression force in web of steel section.
d = overall depth of section; nominal bolt diameter or rod diameter.
e = eccentricity of load
Fc' = compressive strength of concrete, measured at 28 days after casting.
Fr = modulus of rupture (tensile strength in bending).
Fy = yield stress of steel.
Fu = tensile strength of structural steel.
Fu (b) = tensile strength of bolt material.
FEXX = Weld Metal tensile strength.
G = shear modulus of elasticity.
H = overall depth of section.
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I, Ix, Iy = Moment of inertia about X-or-Y respectively.
J =torsion constant.
K = flexural stiffness.
L = Length, span.
L b = laterally unbraced length.
L p = LRFD: maximum laterally unbraced length for using Mn = Mp.
L r = LRFD: maximum laterally unbraced length for using plastic analysis.
L w = length of fillet weld.
L x,y = length of member in X-or-y direction respectively.
m = fY/ (0.85 fc') ratio.
m = number of shear planes.
Md = dead load moment.
Md+L = dead load plus live load moment.
Mmax = maximum service load moment acting at the condition under which Def- lection

is computed.
Mn = nominal moment strength.
Mr = moment strength when extreme fiber reaches (FY – Fr).
Mu = factored service load moment.
Mx = moment about x-axis.
My = moment about y-axis.
P =service axial load.
qw = wind load.
S = snow load.
Sx = section modulus about major axis.
t = thickness.
tn = nominal tension force.
tu = factored tension force.
tw = thickness of web.
tf = thickness of flange.
∆ max = maximum vertical deflection.
 = reinforcement ratio.

λ p = limiting slenderness parameter for compact element.
ry = radius of gyration about minor axis.
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Appendix (B)
Architectural Plans



Appendix (C)
Structural Plans
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